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Q.No: 1 Thereis overlapping is sigma bond formation between s and px, or py orbital or px and py orbital, if z axis is chosen as inter nuclear axis
2407577
sifaeardt 8, s 3R px, AT py Hefa a1 px 3R py Fefia & o R sy Fafo 8, afg 2 sier 1 SR T sref & =9 & A1 911 8
0
A
0
Partial
B
3w
Complete
C
Symmetrical
D

gufra
Correct Ans : A

Subject : Chemistry

Q.No: 2 Which of following conditions are associated with formation of intra-molecular hydrogen bonding ?
2407590

1. Hydrogen bonding should lead to formation of Six-membered ring including H-atom.

II. Molecule should be planer.

III. Take place between different molecules of same or different compounds.

Fafiied § 3 BiF @ Rl $or-Hieger seevH sy & M 952 82
1. TIEGIoM §Y | H-TRHAIY] Afed Be-9eriia aaa 1 fufor g =gl
I1. 7] @R g1 91feT

111, A a1 faftm A & faftm srjeit & ot gar &

Only II

Fad II

Both (I) and (III)

(1) 3R (111) =Y
Only I

Fad 1

Both (II) and (III)

(1) 3R (11) AF
Correct Ans : D

Subject : Chemistry
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Q.No: 3
2407597

Choose the incorrect statement is regarding to Lewis langmuir concept of covalent bond

TEHAIe duT B GFY ATRR RiGid F ey § Tad FUF -
It can explain shapes of molecules containing covalent bond

T GeTUIie dUF aTd SIS & PR &} ARSI H TPhdl &

It could not explain the release of energy during formation of covalent bond

Ig wewdee s ¥ fFmin ¥ e ot 9t gid ot aren T8 R gt

It cannot explain how atoms are held together in molecules like H,. Cl,, etc.

g TYSE =61 &Y [ehcll 1eh Hy, Cly, HTTE ST IO # GRAT0 U Trey hli 9 BT €

It could not explain shapes of molecules containing covalent bond

g HEHUIS YT aTd HUSHT S TSR Bt IRSAT T I qPT

Correct Ans : A

Subject : Chemistry

Q.No: 4
2407714

The hydrogen ion concentration ofa 10-*M HCI aqueous solution at 298K is:

298K I 10-*M HCI STeli €iel T gISaletel 3« AigaT &

1.09*10-°M

1.09*10-°M

9.78*10-°M

9.78*10*M

1.05*10- "M

1.05*10- "M

1.0*10-M

1.0*10M

Correct Ans : C

Subject : Chemistry

Q.No: 5
2407746

If concentration of product is increased than the rate of reaction is

Ife IO B G T A WA e A UABABI R g

Increase

sArer

Decrease

Same

WIR

Can increase or decrease

¢ U1 °UC TS



Correct Ans : B

Subject : Chemistry

Q.No: 6  Which is not the work done under constant temperature in closed system

2407759

sie Fepra # fRR drowr # e a1 1 B o T &-

W1-2=-PVin G_:)
A

Wi12=-PVa (;_:)

Wi2= mRTnG—:)
B

Wi2= mRTnG—:)

W12 =mRT/n (%)
C

W1-2 =mRT/n (%)

W12 = PlVl.-hG—:)
D

W12 = PlVl.-"n(%)
2
Correct Ans : A

Subject : Chemistry

Q.No: 7 When the system is in equilibrium, the entropy of the system and the change in entropy is respectively.
2407761

e P AR # g1 8, 79 Fem # e Rt A uRadawa: _ @ardl

minimumand AS =0

A
TIATH IR 48 >0
maximumand AS< 0
B
FATA AT AS <0
maximumand AS=0
c
A AR as=0
minimumand AS =0
D

Jfwaa it as=0

Correct Ans : C

Subject : Chemistry

Q.No: 8  The number of Bravais space lattices in a cubic system is
2407980



Hfow fien § Ty WY afey ot Tem BRi &1

3 (Simple, face-centered, and body-centered)

A
3 (WX, JeT-Fixa, iR wR-Ffxa)
3 (Simple and body-centered tetragonal prism)
B
3 (W@ 3R IWR-Hfea ageeiiia firsm)
4 (Rectangular and body-centered, rectangular prism, rhombic and body-centered)
C
4 (IMAATHR MR IWR-FHfEd, maareR few, Tragys ok Tik-Sfa)
2 (Rectangular and body-centered, rectangular prism)
D

2 (AP MR TER-FHf4, mraarer fied)
Correct Ans : A

Subject : Chemistry

Q.No: 9  The spacing of the three lines (1, 0, 0 ), (1, 1, 0) and, (1, 1, 1) of the simple cubic lattice can be calculated
2407984

YR O A Bt A el (1, 0, 0), (1, 1, 0) 3R, (1, 1, 1) Bt g8 B T0AT B 1 Thelt 3

d(100):d(110):d(111)=1:1.414:0.577

A
d(100):d(110):d(111)=1:1.414:0.577
d(100):d(110):d(111)=1:0.707:0.577
B
d(100):d(110):d(111)=1:0.707:0.577
d(100):d(110):d(111)==1:0.707:0.577
C
d(100):d(110):d(111)==1:0.707:0.577
d(100):d(110):d(111)=1:0.707:1.154
D

d(100):d(110):d(111)=1:0.707:1.154

Correct Ans : B

Subject : Chemistry

Q.No: 10 For g reaction. 2 A + B — 3Z if the rate consumption of Ais 2 X 10™¢ moldm™2 s™1. The rate of
2408433 , , S
formation of Z (in mol dm™ s7 ) will be

Th Hfafpa 2 A+ B = 37 I ADI G WTIA2 x 1074 moldm™2 s~1 81 Z & & I & (mol

dm™3 571 ﬁ)%ﬁfﬁ
3x 1074
A
3x107%
%x 10~
B
%x 1074

c 2x 1074



2x 1074

4x 107

4% 1074

Correct Ans : A

Subject : Chemistry

Q.No: 11 Coordination compounds have great importance in biological systems. In this context, which of the following statements is incorrect?
2409045

S Feml § SuugwdeH AfMe! H1 9gd Ted gidl o1 39 Yoy & Fafafed Suel § S U 38w § ?

Cyanocobalamin is vitamin B, and contains cobalt

A
AT EATAH T @2 B, 2 fad #rares gram
Haemoglobin is the red pigment of blood and contains iron
B
AT Yo T AT 1 1 quies § R s S §
Chlorophylls are green pigments in plants and contain calcium
(o}
FRMPe TP 5% 1 1 quie 3 Rored Hfewras g 31
Carboxypeptidase-A is an enzyme and contains zinc
D

FIEIRIITIESH -A TF e 3 R Riw grar 21
Correct Ans : C

Subject : Chemistry

(214'\:;301525 In which of the following octahedral complexes of Co (at. no. 27), will the magnitude of A be the
highest?

Co (TAT & 1% 27) & (e Amwadig a5t § fEws =g Ay &7 T aitas grrr?

[Co(CN), i
A

[Co(CN),F-

[Co(C,0).F
B

[Co(C,0).F

[Co(H,0)F"
c

[Co(H,0)F"

[Co(NH,)F*
b

[Co(NH,)}*

Correct Ans : A
Subject : Chemistry

Q.No: 13 Which sulphides are not soluble only in aqua-regia?
2409110



BT GebIgS Haa 3w I8 (aqua-regia) T € gerEied T8 8-
Nis

Nis

HgS

Hgs
CoS

CoS

cds

cds

Correct Ans : D

Subject : Chemistry

In qualitative analysis, Cd is under -

o =AU # Cd ey Tgg § Sufid § 2
I group

1998
II group

II 998
III group

III 9%
IV group

1V 99§

Correct Ans : B

Subject : Chemistry

Q.No: 15 What is green vitriol?

T HA (1 Ui 82
FeS04.7THHO

FeS04.7THHO

(NHa)» 504.6H-0

(NH4) SO4.6H0

K750y

K750y

NajyS04



NajyS04

Correct Ans : A

Subject : Chemistry

Q.No: 16 The reaction of chlorine on carboxylic acids to form alpha chloro acids is called
2409259

3BT FART URTS S & T Srafiastiers RIS W FaRiF &1 Ufdfchar &1 Hgl oidl 8-

Hunsdiecker reaction

A
FUaSIHR Sffuforar
Hell-Volhard-Zelinsky reaction
B
Fo-aieETS -t sfufdar
Hoffmann mustard oil reaction
C
FIPAM AeS Sifaa sifviferar
Rosenmund reaction
D

JAsgus Sffmar
Correct Ans : B

Subject : Chemistry

Q.No: 17 Aqueous formic acid solution cannot be fractionated beacuse formic acid
2409266

Biffe AT & wieha faaas @1 srafad &t fvar o qovdr § Fife Wite

Is miscible with water in all proportion

A
o & ot orguTa & frsofia
Forms azeotrope with water
B
e & a1y FRR Predt fsyor s @
Boils at 100.5°C
C
100.5°C T IaaaT g
Is a pungent corrosive liquid
D

e RS 79 ¥
Correct Ans : B

Subject : Chemistry

Q.No: 18 Reaction of methylamine and acetyl chloride is similar to the reaction of aniline with:
2409299

A T 9 Tufew wikgs @t sivfpm qu relima &1 oftfpan e ¥ 2:
Carbonyl chloride
A
PRI FARTES
Methyl chloride
B

Af FRTES

C Bromine water



SRiE o

Acetic anhydride

Rifes TeEsES
Correct Ans : D

Subject : Chemistry

Q.No: 19 Schotten-Baumann reaction is not possible with:

2409302
et S sifforan g & ary wmia 76 8
CH3NH,
A
CH3NH,
CgHsNH,
B
CgHsNH,
CoHeNH,
c
CoHeNH,
CeH:CONH,
D
CgH:CONH,

Correct Ans : D

Subject : Chemistry

Q.No: 20 Which of the following diseases is due to the deficiency of vitamin A?
2409315

e & & s T ety A B o 3 dar g?

Scurvy
A

wdf

Nightblindness
B

i

Beri-beri
C

I

Anemia
D

ATl

Correct Ans : B

Subject : Chemistry

Q.No: 21  All the following IUPAC names are correct except............
2409415

frafafad @it IuPAC TH T € Riam ...l

A 1-chloro-1-ethoxy propane



1-FARI-1-TATRT WO

1-amino-1-ethoxypropane

B
1-THAY- 1 -TyTRTNT
1-ethoxy-2-propanol
C
1-TUTRAt-2-UioAe
1-ethoxy-1-propanamine
D

1-TYTRA-1-TAEH
Correct Ans : B

Subject : Chemistry

Q.No: 22 How many carbons are in simplest alkyne having two side chanis ?
2409418

3l MY Il T et WRATH Teblg | fhad dia JUTId 8 § ?

5
A

5

6
B

6

7
C

7

8
D

8

Correct Ans : B

Subject : Chemistry

Q.No: 23 The least number of carbon atoms for an alkane to show stereoisomerism is -
2409444

Teh & Ffen wmruaar g & g SR =gHan fhdm e e 819 =iy -

2
A

2

3
B

3

4
C

a4
D

5

Correct Ans : A
Subject : Chemistry

Q.No: 24  Which of the following is an isomer of diethyl ether?
2409447

9 & Seufid SR &1 guETdt HIF 91 82



(CH3); COH

A
(CH3)3 COH
(CH3)CHO
B
(CH3)CHO
C3H70H
C
C3H70H
(CoH5)CHOH
D
(CoH35)CHOH

Correct Ans : A

Subject : Chemistry

Q.No: 25 Which one of the following is not an acid salt?

2409597

P & & B a1 sl o T § -

NaH,PO»>
A

NaH>PO»>

NaH,PO3
B

NaH>PO3

NaH,PO4
C

NaH,PO4

Na;HPO4
D

NayHPO4

Correct Ans : A

Subject : Chemistry

(224’\:)0962064 When SO gas is passed into an acidified K2CrpO7 solution, the oxidation no. of chromium
change from -
STd SO, IFAT K2Crr 07 & Taeras & varfga Frandr &, ar cr &hr sfiadieor simeer aiafda gidr g
+3to+6
A
+39+6
+6to+3
B
+6F+3
+12to + 3
C
+129+3

D +6to-3



+6¥-3
Correct Ans : B

Subject : Chemistry

Q.No: 27 Bleaching powder on standing forms mixture of -

2409611
faRoier Tof ueT X6 W RIor S B -
CaO+Cl
A
CaO+Cl
HOC1+ Clp
B
HOC1+ Clp
CaCly + Ca(CIO3)»
C
CaCly + Ca(CIO3)
CaO + CaCly
D
CaO + CaCly

Correct Ans : C

Subject : Chemistry

Q.No: 28 Which of the following is used for the extraction of cadmium from cadmium sulphite?
2409655

ST Tepise ¥ St & Feyur & forw g & 3 59 vged fear mar & -

Roasting
A
Yol
Reduction
B
repgl
Oxidation
C
it
Electrolysis
D
fagga sraes

Correct Ans : B

Subject : Chemistry

Q.No: 29 When a sulphide ore is roasted, the product obtained is usually -
2409658

TS BTSSR BT U o ST § df FHRIG: W ST 8-

A metal

urg
B A sulphite



PTG

An oxide
C

SiferES

A nitride
D

ATREISS

Correct Ans : C

Subject : Chemistry

Q.No: 30 Ionic character of halides of metals (3d-transition series) decreases in the order-
2409703

gl & FATS! S A O (3d-TehHuT Auft) T Tedr g FH T -
M-I > M-Br = M-Cl = M-F

A
M-I = M-Br = M-Cl = M-F
M-Cl = M-Br = M-l > M-F
B
M-Cl = M-Br = M = M-F
M-Br > M-Cl = M-F = M-I
C
M-Br = M-Cl = M-F = M-I
M-F > M-Cl > M-Br > M-I
D

M-F > M-Cl > M-Br > M-I

Correct Ans : D

Subject : Chemistry

Q.No: 31 Molecular formula C5H 170 will show -
2409774 - =

I. Position
II. Optical isomerism

III. Functional isomerism

WcﬁHIEO g AT HT -

1. fufy gTagaan
11. YIRS FHIGITA

11. forareTes TaTaaddr
Only II

Fad 11
Both (I) and (III)

(1) 3R (111) Y
Both (I) and (II)

(1) 3R (11) F
All (I), (II) and (III)

[l (1), (1I) and (III)
Correct Ans : D

Subject : Chemistry



Q.No: 32 The [UPAC name of the CH,-CH-C- CH-OH is:

2409775 | N
CH, O CH,
CH, -CH-C- CH-OH &7 IUPACHH g -
b b b

4-methyl-2-hydroxy-3-pentanone

A
4-ARA-2-gIggTRNA-3-9=AH1=
2-hydroxy-4-methyl-3-pentanone

B
2-FIESIRN-4-AfYF-3-U=AH
3-hydroxy-3-methyl-2-pentanone

C
3-gIRgTRA-3-AR@-2-T=
3-hydroxy-3-methyl-3-pentanone

D

3-ggTRA-3-ARa-3-t==
Correct Ans : B

Subject : Chemistry

Q.No: 33  What is in the nucleus of an atom?

2746268
WRATY & e B o B 82
Only proton
A
Faa vieH
Proton and neutron
B
Wel 3k gt
Neutron and electron
C
e IR FAFEH
Only neutron
D

Fad g
Correct Ans : B

Subject : Chemistry

Q.No: 34 The atomic number of an element having the valency shell electronic configuration 4s* 4p® is-
2746273

e

3 dcd I GLATY] AT TAST foifeh TdlsTehdl HaTThl Selagiioleh Tdord 457 4p -

35
A

35

36
B

36



37
38

38
Correct Ans : B

Subject : Chemistry

Q.No: 35  How many neutrons are there in the parent nucleus which gives N** after - emission and

2746296 hat is the parent nucleus?
Waﬂﬁ STTaE & farae ,,-q(\;Tﬁ %Gﬂ'B—drﬁalin-l ?mNuaﬂT%Hﬂra—b’aaﬁ;ﬂ Ak & H—FT%'?
8, C
A
8, CH
6, C1
B
6,C2
4,CB
C
4, CB
5, C+
D
5, C

Correct Ans : A

Subject : Chemistry

Q.No: 36 The IUPAC name for CH3;CO-CHj3 is-

2746384
CH3CO-CH; &I TUPAC T 1T
Dimethyl ketone
A
STEARE e
Acetone
B
wREm
Propanal
C
IR
Propanone
D
WA

Correct Ans : D

Subject : Chemistry

Q.No: 37 Benzyl alcohol is obtained from benzaldehyde by-
2746393

FSAIE1SS (benzaldehyde) A IR Teblee A & gRT U Bl &-

Fittig reaction

fpfe aftfepar



Cannizaro reaction

B
FieRY arffdran
Kolbe reaction
C
P ifufsear
Wurtz reaction
D

e aifufean

Correct Ans : B

Subject : Chemistry

Q.No: 38 The charring of sugars when treated with concentrated H,SO, is due to-
2746414

IR BT T Wi H,S0,4 ¥ ifiGd HRamT Sl § @ 39! 9T (charring) 39 SR Y gl 8-

Oxidation
A

Blcica]

Reduction
B

SOg-q

Dehydration
C

frtefteor

Hydrolysis
D

o UgcH

Correct Ans : C

Subject : Chemistry

Q.No: 39 Iodine test is illustrated by which of the following?

2746415
frafafed § 3 frad gr1 smird wemr wefkfa o s 82
Polypeptide
A
RUEEES]
Glycogen
B
ARSI
Starch
(o}
wrd
Glucose
D
@

Correct Ans : C

Subject : Chemistry

Q.No: 40 What is the number of essential amino acids in humans?
2746416

s & savaw sl o Y W B
A 8



10
B

10

18
C

18

20
D

20

Correct Ans : B

Subject : Chemistry

Q.No: 41 From which country the Olympic games started?
2403441

it Jadl Bt Feaid 5 33 F g5?
USA

Tga s SAfvsT

Australia

sffecferar

Greece

pikl

France

i
Correct Ans : C

Subject : General Studies

Q.No: 42 World Human Rights Day is celebrated on?
2403457

fay THaRISR a9 Fa T S 82

16 September
A

16 ReR

16 October
B

16 ST

26 November
C

26 TqER

10 December
D

10 feEsR

Correct Ans : D

Subject : General Studies

Q.No: 43 When is the National Voters day celebrated?
2403458

R RHGACENET R RIS ICICF



25t jJanuary

A

25 S

oth February
B

9 TRast

18t pecember
C

18 R

18th November
D

18 TdR
Correct Ans : A

Subject : General Studies

Q.No: 44 Narsinghgarh Wildlife Sanctuary is in which district of Madhya Pradesh?
2407770

TR gOeld SURIY Al T & g fra o 872

Umaria
A
Iufwr
Rajgarh
B
ITSTTe
Hoshangabad
C
=TS
Chhindwara
D
fgaret

Correct Ans : B

Subject : General Studies

Q.No: 45 As per Census 2011, which is the most populated city in Madhya Pradesh?
2407772

2011 I SFIUAT & IR, T YR H T S SMETE} aTam AR B 61 32

Indore
A

TR

Bhopal
B

g

Jabalpur
C

SEIQY

Gwalior
D

IR

Correct Ans : A

Subject : General Studies

Q.No: 46  Which of the following districts does not lie in the Satpura - Maikal ranges?
2407800



Frafifed & B a1 Rrar gagsT-Aere Joft & e o 82

Chhindwara
A
fgaret
Balaghat
B
qraTare
Mandla
C
e
Panna
D
a4

Correct Ans : D

Subject : General Studies

Q.No: 47 In which of the following centuries was the northern Madhya Pradesh conquered by the Delhi Sultanate?
2407802

fofafad § 9 fra Tt & IRt T U R e Gednd A faw ur @ e

10t
A

10 df

11t
B

11 dF

12t
C

12 df

13t
D

13 df

Correct Ans : D

Subject : General Studies

Q.No: 48 In which of the following districts of Madhya Pradesh is the Dhubela Mahal situated?
2407805

YT Heq A U & Fafafd # 9 few o o fRa 32

Singroli
A

Ryt

Umariya
B

Safvar

Chhatarpur
C

B

Bhopal
D

yurer

Correct Ans : C



Subject : General Studies

Q.No: 49 What was the time period of the 12th Five Year Plan of Madhya Pradesh?
2407814

T Y™ B} IR Taaify e B IEEmady @@ ot

2009 - 2014
A

2009 - 2014

2010 - 2015
B

2010 - 2015

2011 - 2016
C

2011 - 2016

2012 - 2017
D

2012 - 2017

Correct Ans : D

Subject : General Studies

Q.No: 50 Hari Krishna Devsare is an eminent -

2407823
R FU1 TR T T g-
Mathematician
A
T
Writer
B
Sieed
Singer
C
Rlieea
Sitarist
D
AR aee

Correct Ans : B

Subject : General Studies

Q.No: 51 Mrinal Pande is an eminent -

2407824
U Ui TH AT g-
Scientist
A
ERIECD
Journalist
B
TAPR
Athlete
C
Tyedte

D Flutist



g arfeet
Correct Ans : B

Subject : General Studies

Q.No: 52 With which of the following organisations does the Madhya Pradesh Government organise the Khajuraho International Film Festival?
2407830

A TN WHR FuRifEd F ¥ frw Siie & w1y WoRie) SiRigia frer weied 1 Sl ol 37

Prayaas Production Pvt Ltd

A
AT TSR wgde fafies
G. R. Films Pvt Ltd
B
it 3R e wsae fafies
White Reel Productions
C
TI5e i Weww
Jha Productions
D

ELRISERE
Correct Ans : A

Subject : General Studies

Q.No: 53 When was Bhagat Singh hanged to death?

2407833
wiTd Rig &1 B9 Bl f 7 oA
January 30, 1931
A
30 S, 1931
February 20, 1931
B
20 TRaY, 1931
March 23, 1931
c
23 W, 1931
April 24, 1931
D

24 3|, 1931
Correct Ans : C

Subject : General Studies

Q.No: 54 Who is known as father of Indian Archaeology?

2407834
YR QI & a1 & =0 # 5 91 o 82
Megasthenes
A
OIS
Alexander Cunningham
B
AT Fiew
Jean Brunches
C

CIEkCH

D William Stubbs



faferaw wwsa

Correct Ans : B

Subject : General Studies

Q.No: 55 Which of the following is not a west flowing river?

2407843
Froafafed & 3 SH-30 uftm Ft ok T67 arelt T T8 32
Narmada
A
BLE
Luni
B
T
Sabarmati
C
|TERHA
Son
D
KilE |

Correct Ans : D

Subject : General Studies

Q.No: 56 Which of the following soil is infertile?

2407848
Pafifed & § FH-8 gt srueTs; (SR) 22
Peaty Soil
A
e frgh
Saline Soil
B
T fgt
Laterite Soil
C
Trewrge firgt
Black Soil
D
e forgt

Correct Ans : B

Subject : General Studies

Q.No: 57 Which of the following countries is known as the Land of Cakes?
2407849

frafif@d & @ $H-91 W F& B YT (Land of Cakes) & TU & ST SIdT 82

Scotland
A
wpicds
Switzerland
B
Racords
Ireland
C

MRS



USA

AT

Correct Ans : A

Subject : General Studies

Q.No: 58 Who calculate the GDP of India?

2408005
URA T ST BT 70 P9 FRell 32
Reserve Bank of India
A
YR ferd o
Lok Sabha members
B
TP T
Central Statistics Office
C
Feita wifsra sratea
Supreme Court
D

i #E
Correct Ans : C

Subject : General Studies

Q.No: 59 which of the following is called Fiat money?

2408007
frofifad & ¥ 59 Sl g1 we o 21
Currency notes and coins
A
e sie 3R Ried
Demand deposits
B
fEwis feuifere
Gold coins
C
A ¥ fas
Goods and services
D

wTe 3R Fard
Correct Ans : A

Subject : General Studies

Q.No: 60 You must have heard of EMI being frequently used in general. What does 'E' in EMI stands for?
2408010

MO SRR EMI &1 U 0 ¥ SHA 814 & aR & 1 g1 EMI & 'E' &1 & o 32

Encompassing

A
Encompassing
Elevated

B
Elevated

C Estimated



Estimated

Equated

Equated
Correct Ans : D

Subject : General Studies

Q.No: 61

sa05828 A vehicle travels half the distance L withspeed vi and the other half with speed v, then its average

speed is-

U ST L a1 el g vy AT I Fercl § 7T 99 et gl v e I e 1 3WehT 3T =@ &

vy +vs
2

vyt v,

2vy + v
vit Vo

2vy + v
Vit Vo

2vy vy

Vit V2

2vy Vo

Vit V2

L(2vy +wy)

ViVz

L(2vy+wy)

ViVz

Correct Ans : C

Subject : Physics I

Q.No: 62 Which one is not a feature of motion under central conservative forces?

2405829
B 9 TF Heia el 97 F ded M BT AL T 82
The total kinetic energy is constant
A
Fol TS Sl FRR 2
The angular momentum about the centre of force is constant both in magnitude and direction
B
90 & $5 § sivig 7fy aiwor ok R A Rr
The total potential energy is not constant
(o

oo FRufae suf RR T8

D The particle always moves in a plane perpendicular to the direction of the angular momentum



Ul AR HIviY iy &Y fa=m & daaa wuaa o fd Hear @

Correct Ans : C

Subject : Physics I

Q.No: 63 The magnetic moment of a magnet of length 10 cm and pole strength 4.0 Am will be
2408523

TH TS et aEE 10 I IR 4a AT 4.0 Am 8, FT JEBIT ATl T

0.4 Am?
A

04 Am?

1.6 Am?
B

1.6 Am?

20 Am?
C

20 Am?

8.0 Am?
D

8.0 Am?

Correct Ans : A

Subject : Physics I

Q.No: 64 X rays are.

2408695
x - fo ®
Stream of electrons
A
FATH P T
Stream of positively charged particles
B
TS U § MG Hoif $T a8
Electromagnetic radiations of high frequency
(o}
I gftr 3 fagga gty fafewor
Stream of uncharged particles
D

SR HUN HY T8
Correct Ans : C

Subject : Physics I

Q.No: 65 Which one of the following statement is wrong in the context of x rays generated from a x-ray tube?
2408696

x - TRl Bt Telt (xX &E) F x - ¥ TRe T & Ford, Fafaf@a & 3 19 91w 7eq 22

Wavelength of characteristic x rays decreases when the atomic number of the target increases.

TureH x-¥ F aeef HH gt B, Sd A&7 B IRUTY TEAT et g

Cut-off wavelength of the continuous x rays depends on the atomic number of the target.

FHEGIT x-Y Bt Be 316 e AT P WA T&n R ik st @1

C Intensity of the characteristic x-rays depends on the electrical power given to the x ray tube.



Tored x-X¥ F} deral, x-¥ @ ) & 9 9t safRedd R W R w2

Cut off wavelength of the continuous x rays depends on the energy of the electrons in the x ray tube.

FEGIRT x-Y Bt B 36 a1, x-¥ oy A UG gATeE FI Fut W 1Rk s=ar 2
Correct Ans : B

Subject : Physics I

Yiones, The minimum wavelength of x ray emitted by x rays tube is 0.4125 A. The

accelerating voltage is:

xX TF ¥ 3cafeid xX I eaas aedem 04125 A o deea -

30 kv
A

30 kv

50 kv
B

50 kv

80 kv
C

80 kv

60 kv
D

60 kv

Correct Ans : A
Subject : Physics I

Q.No: 67 According to Moseley’s law of x-rays the frequency (v) of a particular characteristic x-ray and the atomic number (z) of the element depend on each other as:
2408700

Ra & x-fopvo & PR, e fady qorenf x feror 3 emqfty ok e a (Teide) Ft RAT] WS 2 Th g W 39 YHR AR F=edt 31

\.";=k22
A

\."\.i'=kz2

~_k

V=2
B

~_k

V=2

v = kz
C

v = kz

\.."_:kz
D

\.."_:kz

Correct Ans : D

Subject : Physics I

Q.No: 68

2408701 10 X-1ay experimentk, ky denotes-



x - ol & waer & k, ke veidia & §-

Characteristic
A

Toreef

Continuous wavelength
B

AR aeeet

¢, P emissions respectively
C

o, p 3cHeT HAE:

o emission only
D

o 3ol dhddl

Correct Ans : A

Subject : Physics I

Q.No: 69 In a potentiometer of one meter length, an unknown e.m.f voltage sources is balanced at 60 cm length of potentiometer wire, while a 3 volt battery is balanced at 45 cm lengt
2409007 f the unknown voltage source is:

TH, TH T, TR & R ¥ U6 3[d [9ggd a6® 9d &1 diecs Wid, TefREeR dR & 60 Y TR R Igferd gl 3, Safd 3 diee et 45 I T WR T gidt § df S[Td diees
g aree we §

3v

2.25v

2.25v

4v

4v

4.5V

4.5V
Correct Ans : C

Subject : Physics I

Q.No: 70 A galvanometer connected with an unknown resistor and two identical cells in series each of emf 2v shows a current of 1A. If the cells are connected in parallel, it shows 0.8 A
2409008 jnternal resistance of the cells is:

T TeHEIeR B 3R URRIY 3R & ThadH Ia R 7d® 1 faggd ares 9d 2V &, A0l 51 & SiieT o1 31 98 9RT 1A feaman 31 afe S0 & gaiR & Sits faar o, ot uRT 0.8A famar & df
ity B

1Q

025Q
D 03zq



033Q

Correct Ans : A

Subject : Physics I

Q.No: 71
2409014

A galvanometer can be used as a voltmeter by connecting a

% NedHIeR H dicetiier & &Y H IUANT a1 o Yol 8, ITH wiig W

High resistance in series.

I wferdty goft &

Low resistance in series.

frra uforty Ao

High resistance in parallel.

I gieRY TR |

Low resistance in parallel.

fra iRy wwmR &

Correct Ans : A

Subject : Physics I

Q.No: 72
2409016

In order to increase the sensitivity galvanometer

iy &) Yae=iiadr 9o & o)

The suspension wire should be made stiff

TEYH aR $) P AT @

Area of the coil should be reduced

PIgd BT AABA HH ST &

The magnetic field should be increased

qIP &7 B TG 7

The number of turns in the coil should be reduced.

Pigd § gHG $ T@N A B 8

Correct Ans : C

Subject : Physics I

Q.No: 73
2409849

Two sources of sound placed close to each other, are emitting progressive waves given by y1 =
4sin 600nt and v,;=5sin 6087t. An observer located near these two sources of sound will hear-

& af T F Fd W g F I W ge § S IRE @Y y) = 4sin 600mt 3R
y,=5sin 608nt 3cHTId X @ §10F Yaie 34 gl SAdl ¥ oy feufd &, saeraar
& T TEUT U T eitehel Gore

4 beats per second with intensity ratio 25 : 16 between waxing and waning

4 dicw v dHvs F Afeer IR afder & @9 25016 & T & Wy

8 beats per second with intensity ratio 25 : 16 between waxing and waning



8 dicH U [HUs A afder AR Al & o/ oigar &1 I 25016 & @y

8 beats per second with intensity ratio 81 : 1 between waxing and waning

T s F § dicy afeder e & d 81:1 F I F F@

4 beats per second with intensity ratio 81 : 1 between waxing and waning

Uk Wb & 4 dice afEwer afr & d 81:1 F I

Correct Ans : D

Subject : Physics I

Q.No: 74 Beats are the result of-

2409850
ey giomm B-
Diffraction
A
faad a1
Destructive interference
B
HIq® GEIST BRI (S¥fAed geTh ) BT
Constructive bid destructive interference
C
framier sfamor ok ara® Afawo o1
Superposition of two waves of nearly equal frequencies
D

3 H T MR B S dERl b ARG B

Correct Ans : D

Subject : Physics I

Q.No: 75 Two source produce sound waves of nearly equal amplitudes and travelling along the same direction producing 18 beats in 3 seconds. If one source has a frequency of 341 Hz,
2409851 frequency of the other source may be-

31 I, ThLIe THM T B e ST A ¢ AR T & o= # 77 Rl gU 3 s H 18 dic I IR ¢ | I TP Wid BT SMaRT 341 ool ¢, o guX Wid BT SMaRT & Tl B-
329 or 353 Hz

A
32917 353 Hz
335 or 347 Hz
B
33591 347 Hz
338 or 344 Hz
C
338 1T 344 Hz
332 or 350 Hz
D

33297 350 Hz
Correct Ans : B

Subject : Physics I

Q.No: 76 A tuning fork of frequency 250 Hz produces a beat frequency of 10 Hz when sounded with a sonometer vibrating at its fundamental frequency. When the tuning fork is filed, th
2409855 frequency decreases. If the length of the sonometer wire is 0.5 m, the speed of the transverse wave is-



T 250 §eol I MR arar ST B 10 5 B ae SMIRT IO FRAT § 919 T QAR Ut ga gy & Ha a1 8, F W1 A1 9 31 91 ST Widh o1 B, <l die smafy w4 &) ol 21
& TR P G 0.5 WX 7, A IR TeR B A 8-

260 ms!
A

260 .

250 ms’!
B

250 /.

240 ms’!
C

240 /A

500 ms!
D

500 FH.

Correct Ans : A

Subject : Physics I

Q.No: 77 Two tuning forks have frequencies 450 Hz and 454 Hz respectively. On sounding these forks together, the time interval between successive maximum intensities will be-
2409856

3 T I B gt HA: 450 B IR 454 TS 81 AT B T Y T W, ITRIR S=Iqd daarsil & i o1 T0g feRTd G-

1
—sec
4
A
1
3
1
— sec
2
B
1
t
1 sec
C
19
2 sec
D
23,

Correct Ans : A

Subject : Physics I

2""\:)09:87587 Two sound waves with wavelengths 5.0 mand 5.5. m respectively, each propagate in a gas with
velocity 330 m/s. We expect the following number of beats per second:-
ar wafa ar e ater e e 5.0 X 3R 5.5 #Aex § uw A\ A 330
AY. AT F TeAdr § §H WM I § & U qbvs A FeAff@d die i dear @
&
1

A
1



12
C

12

o
D

o

Correct Ans : B

Subject : Physics I

Q.No: 79 A tuning fork gives 4 beat with 50 cm length of a sonometer wire. If the length of the wire is shortened by 1 cm, the number of beat is still the same. The frequency of the forl
2409861

TS HfIF Bk 50 It aTE & WY 4 die a1 31 A AR F ofars 1 I Bier 7 9, SR die Bt g s o 9 |, @ Bk @) smaf 3-

396
A

396

400
B

400

404
C

404

384
D

384

Correct Ans : A

Subject : Physics I

Q.No: 80

3400936 L WO sirens situated one kilometer apart are producing sound of frequency 330 Hz. An observer

starts moving from one siren to the other with a speed of 2 m/s. If the speed of sound be 330
m/s, what will be the beat frequency heard by the observer is?

ar offY wF g & uE Bl 7 gt W 330 geot F mafead anh @ sodee
§, TF YT, UH o ¥ g T W 2 A H G § AT IR Tl 51 AR
eafel &7 91l 330 HA. g, df YeTF carT el ol arenr dic 3gfd gl

8
A

8

4
B

a4

6
C

6

1
D

1

Correct Ans : B

Subject : Physics I



Q.No: 81

>a00937 A police car hornemits a soundata frequency 240 Hz when the car is atrest. If the speed of the

sound is 330 m/s, the frequencyheard by an observer who is approaching the car ata speed of
11 m/sis-

TS g PR H gl 9 PR AEEERT i g, dr 240 g §1 eafd seafad s
#1 7Ry «afer Fr are 330 H/A. B FeTF F carr o T A mafea, ST Yare
FR H WF 11 A/ F 9 F T W &-

248 Hz
A

248 g

244 Hz
B

244 7S

240 Hz
C

240 g

230 Hz
D

230 g

Correct Ans : A

Subject : Physics I

Q.No: 82 A man pushes a wall and fails to displace it. So what work is he doing on the wall?
2746475

T 3TEH U AR Bl Haehl 3aT 3 3R IV faefid o # fawhd g 81 A 98 IR W HIH-1 B B WM 87

Negative work

A
BUTHAS HTE
Positive but not maximum work
B
TS b Siftreman T8t
No work at all
(o}
I Bl A g
Maximum work
D

Siftrman st

Correct Ans : C

Subject : Physics I

Q.No: 83 If a lighter body (Mass My and velocity V;) and a heavier body (mass M, and velocity V,) have the same kinetic energy. Which of the following relation is correct?
2746476

e U goahT 105 (Feade M; 3R 391 Vi) 3R vk o1l s (gegars M, 3i a1 V) v arfas sraans
2 Tefefag A8 wla argaa adrg?

M.V, < M, V,
A

MoV, < M,V

M,V, = M, V,
B

MV, = M;Vy



MVy =M;V,

¢
M,V =M,V
MoV, = MV}
D
MoV, = M,V

Correct Ans : D

Subject : Physics I

Q.No: 84 Gravitational attraction between two bodies increases when the masses of the bodies:
2746490

31 ISl & <9 Tocig SHyur 9 9T 7, 99 fiST &1 Soamm:

Decreases and distance is also decrease

A

wea ¢ ok gl wedlt §

Increase and distance is also decreases
B

gedr § o g8t uet §

Decreases and distance is also increases
C

weal @ R g8 gt @

Increases and distance is also increases
D

el € 3R g gt &
Correct Ans : B

Subject : Physics I

Q.No: 85 Where is the maximum value of acceleration due to gravity? (R is the radius of earth)
2746491

e @R FT HIGTH A FEl B 87 (R Gt F B B)

Aheight ? from the earth's surface

A
T T FE ¥ 3 W
The centre of the earth
B
7t F FE W
The surface of the earth
C
gt F HaE W
A depth i—? from the earth's surface
D

T B W 5 TS T

Correct Ans : C

Subject : Physics I

Q.No: 86 When will the restoring force on a particle performing simple harmonic motion be maximum?
2746526

TRA 1T T BRA I B R RYBIH YA 9 B G2

A Maximum displacement



Siftrpan faemu w

Half distance of mean and maximum displacement

B
weg ayT Sifiman fawmes & ot g w
Passing through the mean position
C
T RN} TR W
In rest
D
formmr &

Correct Ans : A

Subject : Physics I

Q.No: 87 A particle executes simple harmonic motion between x = —A and x = +A. The time taken
2746527 goritto go from 0 to% is T, and to go from % to Ais T,. Which of the following relation is
correct?

U FT x = —A AR x= +A F &9 T G AT FIAT 1 0§ 2 TF A A T,EHT
AT § 3R S A T AT AT, G T ¢ | e talf@a # & wla w1 dau were?

T, <T,
A

T, <T,

T, >T,
B

T, >T,

T, =T,
C

T, =T,

T, = 2T,
D

T, = 2T,

Correct Ans : A

Subject : Physics I

Q.No: 88 A particle is performing simple harmonic motion along the x-axis with an amplitude of 4 cm and a time period of 1.2 s. What is the minimum time taken by the particle to trave
2746528 4 3 to x = + 4 cm and back?

TF B x-31ef & SRR 4 I MM IR 1.2 s ST BT P WY WA AT T TR @I FUGRIX = + 2 T x = + 4 Y1t 3R 109 o & A fern 71 =g7aw w0 1 gie

0.4s

A
0.4 ¥Fs
0.3s

B
0.3 AFs
0.2s

C
0.2 ¥Fs
0.6s

D
0.6 AFs

Correct Ans : A



Subject : Physics I

Q.No: 89 1If instead of monochromatic light white light is used for interference of light, what would be the change in the observation?
2746538

e YhTR F AR & T Tpaull UebT=1 & RIF W A YHTR ST JANT f3am e o Deror & am oRkae gme

The pattern will not be visible

A
T R e &m
The shape of the pattern will change from hyperbolic to circular
B
Ye 31 PR sifeuRafee & Mearer § gga sTem
Coloured fringes will be observed with a white bright fringe at the center
(o}
& fibesit ot b5 A To A S b1 & |1y 3T s
The bright and dark fringes will change position
D

e 3R srdtea fpeit @1 R seqa st

Correct Ans : C

Subject : Physics I

Q.No: 90 What kind of sources are required for Young’s Double Slit experiment?

2746539
7 & fafire wiRT & e v wR & Wil @ sazawar gt 82
Coherent
A
s
Incoherent
B
SN
Intense
C
e
Bright
D
THBGR

Correct Ans : A

Subject : Physics I

Q.No: 91 In Young's experiment the ratio of the widths of two slits A and B is 1:16. What is the ratio of intensity at maximum and minimum in the interference pattern?
2746545

T TR B <) e A SR B BT AISTE BT 3FUd 1:16 81 @Rl de H Sifiwdn SR IAGH W i B ST 341 82

25
K}
A
25
o
36
B
36
9
c



Correct Ans : A

Subject : Physics I

Q.No: 92 If the maximum intensity of light in Young's double slit experiment is I;,,,, then what will be the
2746546 . . A
intensity at path difference-?

2T Ao ST # STer 7 SEE A 1, B O A 2 W g a2 gl

Imax

Zero

T
Correct Ans : D

Subject : Physics I

(22.7’1(262)34 Bismuth has a half life of 5 days. What is the time taken by 7/8% part of the sample to decay?

o o1 o S 5 T &1 81T ¥ AR F 7/8 T U B & B B R SHT e 27

10 days
A

10 =

12 days
B

12f&

15 days
C

15 faa

20 days
D

20 f&

Correct Ans : C

Subject : Physics I



Q.No: 94 What does the capacitance of a parallel plate capacitor depend on?

2746677
YR e FUIRa BT ke fram R ewd &2
the type of metal used
A
UgH 4T & TSR W
the thickness of plates
B
el FT Hie W
the potential applied across the plates
C
Wl & A IR favarR w®
the separation between the plates
D

el F T B g W
Correct Ans : D

Subject : Physics I

Q.No: 95 If the current in an electric bulb is 3.2 A, what is the number of electrons flowing through it in one second?

2746678

e T fggd soa o faggd R 3.2 A B, @ U% Jdbs H SU% HIegd F Ualed 81 ard 3aaei-l & T fabat 82

2x10%
A

2% 10°

2% 101
B

2x 1017

3.2 x 101?
C

3.2 x101°

1.6 x 1018
D

1.6 x 1018

Correct Ans : B

Subject : Physics I

Q.No: 96 An electric bulb of 220 V, 100 W is connected in series with another electric bulb of 220 V, 60 W. How much power will be consumed by a 100 W bulb for voltage 220 V on this
2746694 ombination?

220V, 100 W & Ua faggd §ed H 220 V, 60 W & T 3= fagygd aea & T Joft & SiieT mam 81 39 g W diees 220 V F T 100 w e gRT forat et &1 oo g

25 W
A

25w

14 W
B

14 W

60 W
C

60 W

ioo0w
D

00w

Correct Ans : B



Subject : Physics I

Q.No: 97 In charging a battery of motor-car, the following effect of electric current is used-

2746695
TIeR-HR Pt e B AR HA & fayd ur1 &1 g vuta vl & ofram -
Magnetic
A
ERCaL
Heating
B
e
Chemical
C
TafE
Induction
D
R

Correct Ans : C

Subject : Physics I

Q.No: 98 The resistance of a galvanometer is 50 ohms, when a current of 0.01 A flows through it, full scale deflection is obtained in the galvanometer, how much resistance shunt will b¢
2746711 15 convert the galvanometer into an ammeter of 5 ampere range?

% NedHieR HT URRIY 50 37F B, S 30 I 0.01 A B 4RI YaTed gkl B, df Aea-ier & gof et 38y ure gYar 7, oy Ay &1 5 TR ¥ & orfiey & sgem & e fram ufekly &1 =

0.1
A
0.1a
19
B
16
0.010
C
0.01Q
2Q
D

2

[§

Correct Ans : A

Subject : Physics I

Q.No: 99 The mutual inductance of two coils placed opposite is 1.5 H. If the current in one coil increases from zero to 20 A in 0.5 seconds, then what will be the flux binding to the othel
2746719

T Tt & Feferdt BT S IR 1.5 H § 3 0.5 bs H U et H URT YI T 20A T Fedl 7 df GOl Hoal U Taad seal o gril?

30 weber
A

30 I

20 weber
B

20 IR

40 weber
C

40 IR

D 50 weber



50 IR

Correct Ans : A

Subject : Physics I

Q.No: 100 The self-inductance of a coil is 20 H. To generate an induced electromotive force of 100 V, what should be the value of a current of 10 Ain 1 s?
2746720

TF $Sal BT WIRGD 20 H 7 100 V FT IR fAYd a16e a0 I0d 33 & [T 1 s H 10 A B 4RT &1 I G a1 &1 ST aree?

10A
A
10 TR
5A
B
5 TR
3A
C
3 TR
2A
D
2 TR

Correct Ans : B

Subject : Physics I
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Q.No: 1 Internal energy of the system which is containing ideal gas, depends on
2407777

3rexf 1 gad e 31 siiale SHuf R R axd ®

Pressure
A

qld

Volume
B

Sdq

Temperature
C

a9

Specific volume
D

fafzry emaas

Correct Ans : C

Subject : Chemistry

Q.No: 2 Thermodynamics is study of 3E-

2407782
SHMIDT 3E BT AT B
Energy, Equation, entropy
A
Energy(34l), Equation(IJHI®R0T), Entropy(T=TdY)
Energy, Entropy, Equilibrium
B

Energy(3dll), Entropy(T=Tdl), Equilibrium (J7:T)
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Element, Energy, Electron

Element(dd), Energy(ﬁ‘f), Electron(sﬁﬂ@q)

Electron, Entropy, Element

Electron(3a49), Entropy(T=<Tdl), Element(dd)
Correct Ans : B

Subject : Chemistry

Q.No: 3 How many number of atoms per unit cell in FCC structure?
2407985

FCC IRa1 B Ul 318 HIRrebT & tRATusht &) T fasdt gl 82

1
A

1

4
B

4

2
@

2

6
D

6

Correct Ans : B

Subject : Chemistry

Q.No: 4 In diamond, the coordination number of carbon is
2407986

SRS T B 3T g9 ST Bt g1

4 and its cell has 8 carbon atom

4 3R 39 AT A 8 BT YA &

4 and its unit cell has 6 carbon atoms

4 3R 3P A4 § 6 BT WA §

C 6 and its unit cell has 8 carbon atom



6 3R 3T A # 8 P WA §

8 and its unit cell has 6 carbon atoms

8 3R 3P e H 6 Hra WA §

Correct Ans : A

Subject : Chemistry

(22‘-1'\(‘)(;1525 What volume of a 3.2 N H;50; solution is needed to completely neutralize 100 ml of 1.6 N NaOH solution?

3.2 NH,80, s fd=m #aa= 1.6 N NaOH == 100 maﬁ@mﬁﬁwmmﬁ#mm
BT HTEI TR E

20 ml

20 firsft
200 mli

200 fireht
2000 ml

2000 fieht

2 ml

2 foreht

Correct Ans : B

Subject : Chemistry

Q.No: 6 Which law given the dissolution of a gas in a liquid?
2408137

fdt 5o & 79 o1 foaaq foew faw § fear mar g2

Charles law

A
red o1 |
Boyle’s law
B
siaa &1 fFram

C Raoult’'s law



I3ee BT g

Henry’s law

T &1 A

Correct Ans : D

Subject : Chemistry

Q.No: 7 In an octahedral crystal field, the t,_orbitals are—
2408806 :

Uk ITCOHerAI fheeel 4T 7 t, FaTH Hl-

Raised in energy by 0.4 A,

A
0.4 .|"_"|.|:| a‘ T a.a.. %
Lowered in energy by 0.4 A,
B
04 A, T FT FHEEE
Raised in energy by 0.6 A,
Cc
DS ﬁD%CK-E a;ﬁ-. E-
Lowered in energy by 0.6 A,
D

06 Ay FZST FAGAT 8

Correct Ans : B

Subject : Chemistry

Q.No: 8  Which isomer of CrCl; 6H;0 is dark green in colour and forms one mole of AgCl with excess of
2408843 .
AgNO; solution —

CrCl3 6H,O &l Shieial GHETaad! 7T 641 19T &l b 3R AgCl faeras & 3mfeiay & arer @ frar
T Aol AgNO; 2aTd -

A [Cr(H;0)5]Cl3



[Cr(H,0)5]Cl3

[Cr(H,0)5ClICl; HO

B
[Cr(H,0)5Cl]Cl,. Hy0
[Cx(H,0)4Cl,]CL2H, 0
C
[Cr(H,0)4Cl,]CL2H,0
[Cr(H,0)3C13].3H,0
D

[Cr(H,0)3Cl5].3H,0

Correct Ans : C

Subject : Chemistry

Q.No: 9  Which of the following has an optical isomer?
2409056

o & 3 foge yeiie grETd: § 2

[CO(en)(NH,), **

[CO(en)(NH,), **

[COMH,0),(en)]

[COH,0),(en)]”

[CO(en),(NH,), I

[CO(en),(NH,), I~

[CO(NH,),CI]"

[CO(NH,),CI]”

Correct Ans : C

Subject : Chemistry



Q.No: 10 Which one of the following group is not meta directing?
2409303

HIar T fet e 7 82
-CHO

-CHO

~NO,

~NO,

~S04H

~SO4H

—NH,

—NH,

Correct Ans : D

Subject : Chemistry

Q.No: 11 The pair of synthetic rubber polymer is:
2409392

T IS Igad BT I §:
Buna-S, Gutta-percha, buna-N
A
SAT-S TET-URATY SIAT-N
Buna-S, neoprene, bakelite
B
AT-s A3t adarge
Neoprene, buna-S, buna-N
C
fremiiT sgAT-S SHAT-N
Orlon, neoprene, gutta—-percha
D

Sirear, framfi=, T8 wER



Correct Ans : C

Subject : Chemistry

Q.No: 12 Which of the following is not correctly matched?
2409419

g & 3 P e gt 71 @2
Lactic acid CH, - CH- COOH
|
OH
A
dfdes avd CH, - CH- COOH
I
OH
HO - CH- COOH
Tartairc |
HO - CH- COOH
B
HO - CH- COQH
eTeR® ard |
HO - CH- COOH
Pivaldehyde CH,C(CH,),CHO
C
fafesergs CH,C(CH,),CHO
CH,
Iso-octane CH, - !_'; - CH-CH,
|1
CH, CH,
D
CH,
. I
ST CH,-C- CH-CH,
[
CH, CH,

Correct Ans : D

Subject : Chemistry

Q.No: 13 Give the [UPAC name of the following compound:
2409422




rafafag giffies &1 [uPACATH aF -

2, 3-dimethyl cyclobuten-1

A
2, 3-STsAfya AgF sgeH-1
1, 2-dimethyl cyclobuten-1
B
1, 2-3T8 BfYa AgT gEH-1
1, 4-dimethyl cyclobuten-1
C
1, 4-STEARYE AT gEH-1
1, 2-dimethyl cyclobuten-2
D

1, 2-3T8 AT AgF -2
Correct Ans : A
Subject : Chemistry

Q.No: 14 Thajodine atom is ICly~ involves -
2409609 -
1Cly~ # 3Taiidiet uRamoy & -
sp>d hydridization
A
sp3d R
sp>d? hybridization
B
spod2 HRitd
¥ T .
sp“ hybridization
C

sp2 P Ear



sp3 hvdrdization

sp?' HhRd

Correct Ans : A

Subject : Chemistry

Q.No: 15 Bauxite has the formula -

2409634
STSe B 9 &-
ALO, H,0
A
ALO, . H,0

ALO, 2H,0

B
ALO, .2H,0
ALO, 3H,0
C
ALO, . 3H,0
KAISi, 0,
D
KAISi, 0,

Correct Ans : B

Subject : Chemistry

Q.No: 16 Tin and lead can be refined by:
2409663

e 3k s+ FY uR=Nfea foban w1 Tbar g 2

Distillation

3mad fafy

B Liquation



sdtevor fafyr

Levigation
C
= gy fafy
Leaching
D
fagmer fafy

Correct Ans : B

Subject : Chemistry

Q.No: 17 During electrolytic refining of a metal, concentration to electrolyte -
2409666

Tt e1g & fagga sroue-ia e & SRA faggd sigcy o1 Irsdl-

Remains constant

A
Rrwd
Goes on decreasing
B
e STt §
Goes on increasing
C
Toel @
First increases and then decreases
D

Ugd gl 3 fiY gedt §

Correct Ans : C

Subject : Chemistry

Q.No: 18
2409776 IUPAC name of the C,Ha Y LY g 1 (PR g t‘.::u{:H.j is:

N I



CH, -C-CH_tl:l - OCH, &T ITUPACHATH & -
I

Methyl-2, 2-acetyl ethanoate

A
Af-2, 2-gRifew gdite
2, 2-acetyl-1-methoxy ethanone
B
2, 2-uffed-1-AyrRi T
Methyl-2-acetyl-3-oxobutanoate
C
Y- 2-ufhfed-3-siasgeite
Methyl-1, 3-acetyl ethanoate
D

AfYF-1, 3-wRifed vd=iue

Correct Ans : C

Subject : Chemistry

Q.No: 19 1
2409781 The IUPAC name of the compound given below is _

;ﬁfr%ﬁmﬁﬁaw<g TUPAC &TH & -

Bicyclo [3.2.1] octane

A
ISR [3.2.1] e
Bicyclo [3.2.2] octane
B
TRl [3.2.2] SR
Spiro [2.2] octane
C
[ [2.2] 3iTde
Spiro [3.2] octane
D

IS [3.2] 3+
Correct Ans : A
Subject : Chemistry



Q.No: 20 What will be the number of electrons in sodium ion {Na™)?
2746269

TSI 3T9d (Na®) & Seidglal ohl T&ar 47 g1air?

10
A

10

11
B

11

9
C

9

12
D

12

Correct Ans : A

Subject : Chemistry

Q.No: 21 If the electron goes from n = 3 to n = 2 then what will be the energy emitted?
2746274

I sdd n = 3 n = 2 § o1 & d ARl Sl @ gt

10.2 eV
A

10.2 eV

12.09 eV
B

12.09 eV

1.9 eV
C

1.9 eV

0.65 eV
D

0.65 eV

Correct Ans : C

Subject : Chemistry



Q.No: 22 The magnitude of colligative properties in all colloidal dispersions is than solution.
2746282

it prerzet uRaT & s U HT A g i gand g
Lower
A
DH
Higher
B
Sqrar
Equal
C
CHERN
None of the given options
D

fer v faeent & @ FIS off T8
Correct Ans : A

Subject : Chemistry

Q.No: 23 Which one of the following is a non-ideal solution?

2746283
o & & P-T1 offref fae &2
Benzene + toluene
A
i + ergEa
n-hexane + n-heptane
B
n-gFa + n-ge
Ethyl bromide + ethyl iodide
C
o sargs + TR smitsTes
CCls+ CHCI3
D
CCly+ CHCl3

Correct Ans : D

Subject : Chemistry



Q.No: 24 TUPAC name of CH;-0O-C,H: is-
2746385

CH;-0-C,H; &T IUPAC &TH &-

Ethoxy methane

A
QyrRit #ae
Methoxy ethane
B
ATt T
Methylethyl ether
C
AfRYeeRre SR
Ethylmethyl ether
D

TR $UR

Correct Ans : B

Subject : Chemistry

Q.No: 25 which of the following compound is formed when ethyl bromide is heated with dry silver ?
2746394

R FEE B T ReR & 9y T 3 R Fufafed § § o9 @1 e s 82

Dimethyl ether

A

STEARE SR

Diethyl ether
B

RERYEEEUH

Methyl alcohol
C

AR Tewied

Ethyl alcohol
D

o TeEE

Correct Ans : B

Subject : Chemistry

Q.No: 26 The unit for measurement of sedimentation of ribosome is -
2403482



IESIGIT B ST Ul G ghTS B-

Nano-meter (nm)

A

AR (nm)

Angstorm (A)
B

FarEeH (A)

Micron (p)
C

ASHE (1)

Svedberg(S)
D

wWsi (S)

Correct Ans : D

Subject : Botany

Q.No: 27 Barbara Mc Clintock discovered transposons in —
2403484

IRERT Afdcierd A IO &1 @il $i-

Rice
A
CICGRE|
Maize
B
TS |
Sweet pea
C
TR |
Sugercane
D
ek

Correct Ans : B

Subject : Botany



Q.No: 28 Antibiotics obtained from Bacilles licheniformis is
2403520

IRTY ARHN HIHE ¥ U TS -

Penicillin

LIEIGIRE
Subtilin

afeferm

Bacitracin

RrRE

Polymyxin

UIGIEIENE]
Correct Ans : C

Subject : Botany

Q.No: 29 Casparian strips are found in the radial walls of -
2403538

e @t Yeoa fify W i ufear ordt ot 8-

Epidermal cells

A
M TIPS W)
Pith cells

B
Hoo SIR@IS W
Hypodermal cells

C
JEdrg HifR@Te R
Endodermal cells

D

3(d: G HIfETe W
Correct Ans : D

Subject : Botany

Q.No: 30 The term ‘bast’ has been used for-
2403540



IR’ eg; BT YANT fhar STl B-

Phloem
A
divarg & forg
Endodermis
B
3T: @ & farg
Xylem
C
SiEeH & fre
Pericycle
D
Ry & foe

Correct Ans : A

Subject : Botany

Q.No: 31 During the process of photosynthesis the raw material used are-
2403553

THTS GRAWUT T TfpaT F SRH Wgad b Tard §-

Mannose
A
EEIE|
Starch
B
w®H
Carbondioxide and water
C
PrAASIgHIFATEE Td o
Chlorophyli
D
FRPd

Correct Ans : C

Subject : Botany

Q.No: 32 Which of the following is substrate in photorespiration?
2403559



= & q PF b 9 | gsuce g2

Protein
A

e

Glycolate
B

EPIAC

Glucose
C

T

Carbon dioxide
D

PSS ATFITES
Correct Ans : B

Subject : Botany

Q.No: 33 Gibberllin was discovered in-

2403567
firesRfe 3t @ 31 18-
Bacteria
A
Staroy #
Pollen grains
B
WRATH §
Fungi
C
P
Roots of plants
D

e} B et &
Correct Ans : C

Subject : Botany

Q.No: 34 Which of the following checks sprouting in potato?
2403568

= & § o H R0 HH-1 uard fifa e g2
A Cytokinin



2-4-D
B

2-4-D

IAA
C

3E. T. 6.

Maleic hydrazide
D

Afer® gr3gTemse
Correct Ans : D

Subject : Botany

Q.No: 35 Factors which relate to form and behavior of the earth’s surface are called-
2403573

U geh S gt 3 Wl F =0 Ud FaeR A Tdy ufd €, 98 Fed 8-
Topographic

A
RATPHfaPd
Edaphic
B
qd RS
Biotic
C
Sfaw
Climatic
D
Serargdt

Correct Ans : A

Subject : Botany

Q.No: 36 Concept of ecosystem are-
2403575

IR & T &-

A Plants and animals



0 Td wg

Air and Light
B
arg & g
Water and soil
C
S TF T
Biotic and abiotic
D

Sfew ud sifaw
Correct Ans : D

Subject : Botany

Q.No: 37 The effects of global warming include which of the following?
2581800

Telleret afeiT & gural  Fafafad § 9§ o e 82

Deforestation

A
T B Berg
Rise in sea level
B
JYs & W A i
Waste generation
C
HRT Fad
Rapid increase in population
D

SEEn § daoft I gfs
Correct Ans : B

Subject : Botany

Q.No: 38 Mendel conducted his research on pea plants because-
2581811

Hed 7 Aex & Uief W 3o My fpar wife

A They were cheap



IR Y

They had contrasting characters

B
3% faudla ura & (contrasting characters)
They were available easily
C
3 T | SuAsy &
All of the given option
D

feu e 9t faweg

Correct Ans : B

Subject : Botany

Q.No: 39 What kind of plant photosynthesis-related responses involve peroxisomes?
2581827

59 UPR & Uy UHT-gRaNT I Jefd ufafparsi ¥ Ried s mfid g 82

Calvin Cycle

A
Pi wsfea
Glycolytic cycle
B
TESIAged a5
Glyoxylate cycle
C
TS HIRITgC T5h
Bacterial photosynthesis
D

SHaTU] yehTRT SRATOT
Correct Ans : C

Subject : Botany

Q.No: 40 What Causes a Plant to Bend Toward the Light as It Grows?
2581832

T & 96 IR THR BT 3R FH $T T SR 62

Because phototrophic plants are green.

FiifF yoRad 0 R g T

B Auxin accumulated on the shaded side stimulates more cell elongation.



BIifed Uel (shaded region) W IR 3R (accumulated Auxin) 3ifR& FHIRAT fIFTR F IARTE (stimulates)
Feam 2

Since photosynthesis requires light for plants.

TP w11 WA F e diel F e umr B srazgwar gdt 21

Light causes cells on that side to develop more quickly.

YHT IH TP 1 DRI B 3R st A farRid $1 o1 FRU a=41 2|

Correct Ans : B

Subject : Botany

Q.No: 41 What is the reason behind the increase in fluidity of the plasma membrane?
2581836

o 3l @t aRerr (fluidity) § 9 & O 1 SR E?

Increased unsaturated fatty acids in the membrane.

A
fareeht & srqua awfta srelt # gfR | (Increased unsaturated fatty acids in the membrane)
Increase in saturated fatty acids in the membrane
B
@Wﬁ | W L | Tfys s | q@ (Increase in saturated fatty acids in the membrane)
an increase in the membrane's glycolipid content
C
%Iﬁﬁ @t mﬁlﬁ's' It (content) i q@
an increase in the membrane's phospholipid content
D

et 9t wrepifaius areh # 9
Correct Ans : A

Subject : Botany

Q.No: 42 Restrictions enzymes are utilised in genetic engineering experiments for
2581842

ufddy TSIEHT (Restrictions enzymes) &1 SUANT 3ARI® SN-ANT (genetic engineering) AT # fean ot
Viral DNA

IR d SITAT (Viral DNA)

B bacterial DNA



Sifaru] $uAT (Bacterial DNA)

eukaryotic DNA

THIAfed SITAT (eukaryotic DNA)

any type of DNA.

fodt oft v &1 Steae

Correct Ans : B

Subject : Botany

Q.No: 43 What does the "heat shock" technique mean for bacterial transformation?
2581846

Sftaro) uRad= & forg die Aie" dab-ie &1 @ 3 §2

binding of DNA to the cell wall

A
IR fufe F Seae #1949 (binding)
uptake of DNA through membrane transport proteins
B
fBreeht uftaes M & wrerH A ST $T1 @RI (uptake)
uptake of DNA through transient pores in the bacterial cell wall
C
Sitaryy ST fuft & aftres fsgl & A @ e &1 sazivor
expression of antibiotic resistance gene
D

tdamifes ufaRiy S (resistance gene) &1 3ififaafad

Correct Ans : C

Subject : Botany

Q.No: 44 Restrictive endonuclease enzymes were discovered by whom?
2581848

yfoeeTdHs TSgfaast UsgH (Restrictive endonuclease enzymes) &t @IS frdd gRT &1 18 2ft?

Smith and Nathane

Ry ofir 19T

B Baiger



FR

Waxman
C

CELEE]

Fleming
D

wAfT

Correct Ans : A

Subject : Botany

Q.No: 45 A promising transgenic crop is golden rice. It will assist in growing when it is cultivated?
2581849
TP SRS <SG HEd (promising transgenic crop) 8R! I1Gd §1 O/ S9! Tdt $I ST § O T8 P I H
HGE HI?
High lysine content
A
I argRie |l
Pest resistance
B
Fie ufarity
High protein content
C
I W anTt
High vitamin A content
D

I faerfo= A arrh

Correct Ans : D

Subject : Botany

Q.No: 46 At the level of the principal regulation of gene expression occurs.
2581855

P TR W S e (gene expression) &l &0 [GREC] (principal regulation) B gl

Translation

Sigdre

Replication



uferpfer

Transcription

ufafefy

None of the given option

e U feedl § @ B 98
Correct Ans : C

Subject : Botany

Q.No: 47 What isotope that isn't radioactive did Messelson and Stahl use in their experiment?
2581856

TR IR W A 3R vanT A by guRifie &1 uanT fear o Yeafaes T8 82

P32
A

P32

S35
B

S35

N15
C

N15

None of the given option
D

e U feedl § @ B 98
Correct Ans : C

Subject : Botany

Q.No: 48 What happens during placentation in a single-ovule unilocular ovary?
2581867

THd-ASTHR THHIRDBIT ST H 3IRT WY (placentation in a single-ovule unilocular ovary) & GRTH &1 gidT 82

Axile
A
W™ (Axile)
Free central
B

ad WA (Free central)

C Basal



3y (Basal)

Marginal

diHid (Marginal)
Correct Ans : C

Subject : Botany

Q.No: 49 What structure is absent in angiosperms?
2581868

3fTgadiot (angiosperms) & HF-Tt TR AT gt 82

Archegonium

A
3MHMATH (Archegonium)
Carpel
B
HToA (Carpel)
Anther
C
RIS (Anther)
Magagametophyte
D
WNTASIBISE (Megagametophyte)

Correct Ans : A

Subject : Botany

Q.No: 50 Which of the following plants comes under the category of polycarpic plant?grows in multiple locations?
2581869

fFafafad § ¥ &F 91 oer uiddierite qe &t Juit F 311dT § 9UT s RIFT WR I 872

Sugarbeet
A

S TR

Cabbage
B

o et

C Carrots



Apple

GCl

Correct Ans : D

Subject : Botany

Q.No: 51 Active reabsorption of sodium takes place in which part of Nephron
2403323

QfeTga &1 Tfehg GHIEIT0T A & g yrT & g g

Proximal convoluted tubule

A
THIIR gATIER Aferet
Loop of Henle
B
U 3G g1t
Medullary collecting duct
C
Agadt AR AferHT
Cortical
D
Fifdwa

Correct Ans : A

Subject : Zoology

Q.No: 52 Which type of cells provide structural support, nourishes and protect the neuron in nervous system.
2403339

AP I BT B T VA R B IRTATAS ST T0T 3R GRET Y& T g

Satellite cell

A
IuUE A
Glial cell
B
[ISRICKCK

C Neuropil



R

Nissl bodies

foea et

Correct Ans : B

Subject : Zoology

Q.No: 53 Due to abnormal secretion of cretinism disorder occurs.
2403596

g A= W9 & SR HelfAoH TR I~ gidr gl

Thyroxine
A

YIRIfSEA

Pectin
B

fdea

Oxytocin
C

ICHIIE

Calcitonin
D

Fefet=

Correct Ans : A

Subject : Zoology

Q.No: 54 Amniocentesis is which kind of diagnosis.

2403608
THRERIRR 59 YR BT Tdtero g @ -
Preimplantation genetic diagnosis
A
SR g4 STafre e
Pharmalogenetics diagnosis
B
wHfEeHeT Tier
Prenatal diagnosis
C

g gd gdteqor
D Biopsy



e

Correct Ans : C

Subject : Zoology

Q.No: 55 What are the reason behind growth of population.

2403609

ST gfg & U T HRUT R

Natatity and Emigration
A

IR 3R SHa™

Mortality and Emigration
B

TgeR 3R I;A

Mortality and immigration
C

TG 3R Syary

Natality and immigration
D

S 3R 3TyaTy
Correct Ans : D

Subject : Zoology

Q.No: 56 Which endocrine disorder cause excess secretion of thyroid hormones and thyrotoxicosis ?
2403613

5T 3 Wrdl fAPR & HRU YIRS BIEM BT AP T1d Bl & 3R YRR

¥ PR &7 B

Addison’'s disease

A
TfEw [T
Exopthalmic Goiter
B
THIRITTHS Mgex
Hypothyroidism
C

gIEMUTIRIfSH

D Hashimoto disease



BRI I

Correct Ans : B

Subject : Zoology

Q.No: 57 Which cell assist in repairing damaged nervous tissue in central nervous system.
2403616

AT Faw 31 afayfd fra HikieT o) TerEar ¥ $) 9 8

Ganglia
A
EURCY
Actin
B
efdea
Axon
C
T
Glial cell
D
frerara g«

Correct Ans : D

Subject : Zoology

Q.No: 58 Animals made of foreign genes through recombinant DNA technology is called.
2403953

G S A gR R o @ o SR @) 9w -

Transgenic animals

A
FAEIREAE !
Transparent animal
B
URexif 5ig
Infected animals
C

Wi sig

D Bt animals



& sig
Correct Ans : A
Subject : Zoology

Q.No: 59 Which of the following functions are not carried out by single-celled organisms?
2581875

fFofefad § @ 19 91 &1 Uehd-HIRAeT darat siial gRT a8} foram oirdn 872

Digestion
A
CIEET
Respiration
B
a1
Reproduction
C
LEEE]
Neural coordination
D

df®T IH=ag (Neural coordination)
Correct Ans : D

Subject : Zoology

Q.No: 60 What tissue is generated from all three germinal layers?

2581878
T 7 Rl § HH-91 Sad 30 gl &7
Connective tissue

A
Tl SHaw (Connective tissue)
Epithelial tissue

B
3Uhdl Hdd (Epithelial tissue)
Muscular tissue

C
Ui SHaoe (Muscular tissue)
Neural tissue

D

dfA®T SHa® (Neural tissue)

Correct Ans : B



Subject : Zoology

Q.No: 61 Before antibiotics, what was the first commercial available antibacterial product?
2581889

Tarifes garelf ¥ ugd, ugdl anfifcys Iuasy SharuRidh Idre S 9T U1?

Penicillin
A
R
Prontosil
B
eI
Azithromycin
C
EPIL I
None of the given option
D

e e e # @ 9% 98
Correct Ans : B

Subject : Zoology

Q.No: 62 Which procedure is used to castrate male pigs?
2581899

R GIRI B! TS P & o foba vfshar &1 Izt fawan e 82

Burdizzo

A
f$S (Burdizzo)
Hot iron

B
f G (Hot iron)
Knife

(o
qie (Knife)
Elastrator

D
W (Elastrator)

Correct Ans : C

Subject : Zoology



Q.No: 63 What is the name of the fleshy, visible mass that can be seen between a cow's forelimbs?
2581900

Mg & 3FIUTE! (forelimbs) & o fa@Ts 31 AT HiGd, T2 S0HM (fleshy, visible mass) T &7 T 872

Rump

A
g4 (Rump)
Flank

B
Wi® (Flank)
Brisket

c
fo¥e (Brisket)
Dewlap

D
gy (Dewlap)

Correct Ans : C

Subject : Zoology

Q.No: 64 What benefits does the second crucial biotechnology research field offer?
2581901

IR Aeaqul S Wit S8 &3 o1 ary UeH HRdl 8?2

Optimum conditions for the catalyst

A
IAR® & for gpaw fRAUfATT (Optimum conditions for the catalyst)
The pure form of catalyst

B
IAP BT ¥[& U (The pure form of catalyst)
An impure form of catalyst

C
IAR® T Th 3K ¥U (An impure form of catalyst)
Purification of products

D

Idrel t Yfs (Purification of products)

Correct Ans : A
Subject : Zoology



Q.No: 65 Cocaine interferes with the CNS's reuptake of the at the synapses when it is taken as a stimulant.
2581911

T4 Y Iuoid & T § forn a1 § N Pl R R AT F _ F YA g0 B gAY IRl 7

Testosterone
A
[ATALLRIE |
Dopamine
B
Adrenaline
C
None of the given option
D

o e fawent A @ ®Ig &
Correct Ans : B

Subject : Zoology

Q.No: 66 What is the substance that a virally infected cell produces to prevent other cells from becoming infected further?
2581921

98 DI 1yt § ot U AWy & ehfd HIRGT (virally infected cell) 30 HIRH13T B 3R 31w Yhfid 87 I s9H & g
BT Felt 82

serotonin

LIRS

colostrum

PareH

interferon

e

histamine.

R

Correct Ans : C

Subject : Zoology



Q.No: 67 There are a total of orifices that allow urine to enter and exit the bladder.
2581928

Fa_ IR E N P ERE A UaR B SR R e Bt SrgHfd <d §
2

5
Correct Ans : B

Subject : Zoology

Q.No: 68 Which one of these diseases doesn't involve the thyroid glands?
2581933

g 9 fobg A 7 ureRigs dfyat e el €2
Cretinism
A
wiefren
Myxoedema
B
HATHITSHT
Goitre
C
By (Goitre)
Acromegaly
D

LEJEL S]]

Correct Ans : D

Subject : Zoology

Q.No: 69 Programmes for plant and animal breeding are two examples of which of the following?
2581934



WY SR U T & HRisH Rufarad 8§ ¥ fewad g SaeRur g2

reverse evolution

A
et gategme
artificial selection
B
39 T (artificial selection)
mutation
C
Iaf¥add (mutation)
natural selection.
D

UIPpfd® 994 (natural selection)

Correct Ans : B

Subject : Zoology

Q.No: 70 What does the palaeontological evidence of evolution include?
2581935

fasTIaTe & QRIUNTOGTEN Wed (palaeontological evidence of evolution) ® &1 TNfiad 82

development of embryo

A
YUT BT foera (development of embryo)
homologous organs

B
JHFY 3T (homologous organs)
fossils

C
SiaT=H (fossils)
analogous organs.

D

3T 37T (analogous organs)
Correct Ans : C

Subject : Zoology

Q.No: 71 What is the most recent method for identifying a psychological disorder?
2581945



TR fdPR &1 UgaH & iU Td=ars o 1 872

WHO
A
WHO
DSM-III R
B
DSM-III R
DSM-V
C
DSM-V
ICD-9
D
ICD-9

Correct Ans : C

Subject : Zoology

Q.No: 72 When people think they have extraordinary abilities, what do they suffer from?
2581946

S AN e § fob I UMY SRR &I §, o 9 a9 diid 81 82

delusion of reference

A
g &1 YT (delusion of reference)
delusion of grandeur

B
Hodl T YH (delusion of grandeur)
delusion of control

C
fod=v1 H1 YH (delusion of control)
hallucination

D

Afayw (hallucination)
Correct Ans : B

Subject : Zoology

Q.No: 73 Having trouble or sense of fear in entering new situations is referred to as?
2581947

T2 oRfRufoa} § Uaw o3 H WM AT YT BT HIGHT B T Hel SildT 272

A panic disorder



3Td® fdPR (panic disorder)

compulsive disorder

B
PRI PR (compulsive disorder)
conversion disorder

C
FYiaruT fdPR (conversion disorder)
agoraphobia

D

SHTdP (agoraphobia)
Correct Ans : D

Subject : Zoology

Q.No: 74 How many parathyroid glands are there in a human body?
2581950

AMd TRR # fFa RurRgs ikt gt 82
2

1

Correct Ans : C

Subject : Zoology

Q.No: 75 The lower jaw, head, and tongue are drawn backward by the muscle.
2581955

et SiesT, RR SR Sty =t (muscle) gRT 1D @t 3R T2 o §1

A Maximus



A

Retractor
B
ufdsyd® (Retractor)
Abductor
C
Tdsdc3R (Abductor)
None of the given option
D

fou e fawent A @ FIE T8
Correct Ans : B

Subject : Zoology

(214'\(')0?: 87563 According to Malus law. relation between intensity of polaroid ‘I;" and angle between polarize
direction and vibrational plane © is-

#orw & f99A & HER UieRiss 1)@ diaar 3R gaor Qe 3R &uea g & @ & o7 &
drer a9 §-

Ig = I,cos?@

A

Ig = I,cos?®

Iy = [aCOS:@
B

I, = Igcos’@

I =I,sin*®
C

Ig = I,sin’@©

Ie = I tan®@
D

Ie = I tan®@

Correct Ans : A



Subject : Physics II

Q.No: 77

2403854 T, Imax = lmin

o coherent sources of light having intensity ratio is ‘n’ the ratio of value interference pattem -=*
. " . lmax+ lmin
find bv super imposition will be-

YFRI & Gl ol FFAG TG &I gl Feadidn §1 SHb FCARIOT § IIed cafaetor dead A
IOl mex— mingy AL FHEI-

= Inase* Imin

21\.'3
(n+1)2

2*\.'?
(n+1)2

(n+1)

(n+1)

24/n
(n+1)

24/n
(n+1)

Correct Ans : D

Subject : Physics II

(22"1'\(';;87586 The dispersion of a medium for wavelength i is D. Then the dispersion for the wavelength

2 will be:



A aEeEd & ol & fov Aregd i fA%sTor sAar D & A 24 aianded & uSer &
fore faataor aydar gef-

D
a
A
D
a
D
4
B
D
4
D
2
C
D
2
D
D
D

Correct Ans : A

Subject : Physics II

Q.No: 79 Which of the following has no dimensions?
2581726

fafafad 7 J feweT ¥ 3 (dimension) el 82

Planck’s constant

A
W fRRTP (Planck’s constant)
Refractive index

B
3Uad® JaPi® (Refractive index)
Gravitational constant

C

TFaIHYUl fRRI® (Gravitational constant)

Velocity



3T (Velocity)
Correct Ans : B

Subject : Physics II

Q.No: 80 Which one of the following is not a unit of time:

2581728
frafifed & § o1 97 31 3315 T 6
Microsecond
A
RIECIEE S
Leap year
B
3f¥ad (Leap year)
Parallactic second
C
WRrAfde® AFS (Parallactic second)
Lunar months
D

4% 9 (Lunar months)
Correct Ans : C

Subject : Physics II

Q.No: 81 When may one declare that a body has undergone work?
2581729

DS HY 9T IR Tl ¢ o[BI I (body) 7 & BT 82

When a force is applied to the body

A
9 IR W I ST A 3
When energy increases as a result of mechanical influence
B
4 Fif3® UHTG (mechanical influence) ¥ TRUTAGTY St gl @
After a specific movement of the body
C
IR B Uh fafzre ofa (specific movement) & TG
None of the given option
D

e T Rl § A 915 98

Correct Ans : B



Subject : Physics II

Q.No: 82 Which category do kinetic and potential energy belong to?
2581732

Tifaet 3R TS o1t (kinetic and potential energy) g 3ot & Teifera 82

Mechanical energy

A
Tifi® Sl (Mechanical energy)
Electrical energy

B
fagydia St (Electrical energy)
magnetic energy

C
Y9@Ig Sl (magnetic energy)
Usual energy

D

T St (Usual energy)
Correct Ans : A

Subject : Physics II

Q.No: 83 How much more kinetic energy results from a 20% increase in momentum?
2581733

¥ (momentum) & 20% @ 3fg ¥ ot 3ifie Tfast ot (kinetic energy) 3@ il 82

55%
A

55%

44%
B

44%

66%
C

66%

40%
D

40%

Correct Ans : B

Subject : Physics II



Q.No: 84 The highest level of accuracy is attained when an object's position is determined by a beam of light if the beam is
2581747 .

FEdH TR &I GBI (accuracy) I8 UT il § o it avg 1 fRufaq weprer &Y fasror g1 FRuffea o ot § afe i

. -+
Polarised
A
ydtpd (Polarised)
of longer A
B
5T A (of longer A)
of shorter A
C
BIET A (of shorter A)
of high intensity
D

I gl 3T (of high intensity)
Correct Ans : C

Subject : Physics II

Q.No: 85 Between which two of the following regions does X-ray fall?
2581753

frafefad 7 § 5 @ &3 & ol o3 uga 82

visible and ultraviolet regions

A
TR 3R WIS &7 (visible and ultraviolet regions)
gamma rays and ultraviolet region
B
T fHR0l 3R WIS &5 (gamma rays and ultraviolet region)
short radio waves and long radio waves
C
DI I TH iR @ I T (short radio waves and long radio waves)
short radio waves and visible region
D

Erg‘\fl%u‘r T R ==Y & (short radio waves and visible region)



Correct Ans : B

Subject : Physics II

Q.No: 86 What is the main cause of the Sun's radiant energy?
2581755

T 3t e e (Sun's radiant energy) T I8 HRUT T 82

nuclear fission.

A
AT fdEST (nuclear fission)
photoelectric effect.
B
U1 faggd YHTT (photoelectric effect)
spontaneous radioactive decay.
C
Eﬁ:‘x‘%‘cf Yot e (spontaneous radioactive decay)
nuclear fusion.
D

URHTY Hedq (nuclear fusion)
Correct Ans : D

Subject : Physics II

Q.No: 87 500 N is the weight of a body at the earth's surface. How much would it weigh if it were buried halfway beneath the
2581761 earth's surface?

500 N gt &t Tdg W il axg &1 IR §1 af 38 g2t &) Tag § snen 2 g fear Se oY s9a1 o e g

500 N
A

500 N

250 N
B

250 N

125N
C

125N

1000 N
D

1000 N

Correct Ans : B



Subject : Physics II

Q.No: 88
2581765

Two planets have their ratio of mass 1:2 and ratio of their radii 1:2. What will be the value of the ratio of
acceleration due to gravity?

3 8l & G BT U 1:2 3R I! Hoursit &1 3urd 1:2 B TSQAHYU & HRU @R (acceleration due to gravity) &
3{UTd BT T T GRIT?

1:2

4:1

Correct Ans : A

Subject : Physics II

Q.No: 89
2581766

The term " " refers to the rate at which electric charge flows through any cross-section of a conductor.
WG " "I R DI YN HRar 8 o W faggd MmN (electric charge) fdt arad & fadt iU F1E (cross-
section) ¥ yaTRd g &1

Electric flux

faggdia v (Electric flux)

Electric potential

faggdta Jutegar (Electric potential)

Electric current

faggd watg (Electric current)

Electric field

ﬁ@g?r &7 (Electric field)



Correct Ans : D

Subject : Physics II

Q.No: 90 The siemen is an unit of:

2581770
T et 3T 82
Conductance

A
Ydlgdh~d (Conductance)
Resistance

B

yfeRIYy (Resistance)

Specific conductance

C
fafary are= (Specific conductance)
Voltage

D
diees

Correct Ans : A

Subject : Physics II

Q.No: 91 Which of the following energy units is the largest?
2581776

frafifed @ 9 319 @ ol 31 go9 T91 72

Calorie

o

Electron volt

FATEH dtee

Joule

Erg

3t

Correct Ans : A

Subject : Physics II



Q.No: 92 When a particular amount of heat is removed from a heat reservoir, its temperature
2581777

9 fordt ST YSR (heat reservoir) ¥ T fIT AT & SHWAT 8T 21 Ot §, @ SGHT dATTHA

Increases
A
ggaT g
Decreases
B
FH I T ?
becomes zero
C
[ B e @
remains constant
D

fRR a2

Correct Ans : D

Subject : Physics II

Q.No: 93 Which of the following criteria does not describe the thermodynamic state of matter?
2581778

fgfafad # Q@ S19 I IS (criteria) T @) yriSAING Siawr &1 quf Tt Har g2

Temperature
A

GIEGIE]

Work
B

Cap)

Pressure
C

adld

Volume
D

H=AT

Correct Ans : B

Subject : Physics II



Q.No: 94 Experimental evidence for the quantization of charge was provided by
2581783

MY & URHATOAERIT (quantization of charge) & iU U T1&T (Experimental evidence) gRI UeH foar
T

Einstein’s photoelectric effect

A
SR BT BieIgafae®d YUT
Frank-Hertz experiment
B
Fe-gés TR
Millikan’s oil drop experiment
C
faferea ®1 99 g v
Davisson and Germer experiment
D

ST iR wiHR wanT

Correct Ans : C

Subject : Physics II

Q.No: 95 The pendulum length that is showing SHM has increased by 21%. Calculate the pendulum's periodic time's
2581788 percentage increase.

SHM =1 aTdl AIad B daTs § 21% &1 3G 83 ¢! USAH B 3M1afe I (periodic time's) &I U= i o T0FT Y|

21%
A

21%

11%
B

11%

42%
C

42%

10%
D

10%

Correct Ans : D

Subject : Physics II



Q.No: 96 According to Hooke's law, which of the following is true:
2581789

B & o & 3uR, Fufifed § @ o9 w9 &

Modulus of elasticity

A
W9 & AIUI® (Modulus of elasticity)
Stress
B
dH1d (Stress)
Strain (Strain)
C
f&ama (strain)
Elastic limit
D

gaes fafie

Correct Ans : A

Subject : Physics II

Q.No: 97 What happens to the modulus of elasticity as temperature rises?
2581790

AUAE g¢1 W Al & AP (modulus of elasticity) T 3T BidT 872

Increases
A
gt §
Decreases
B
T g T 3
Remains constant
C
R war e
Becomes zero
D

T E ST g
Correct Ans : B

Subject : Physics II

Q.No: 98 Which of these substances is unaffected by an elastic force when applied?
2581791



0 ¥ 319 I yerd ar] 81 R dkER §¢ (elastic force) I SUHTAT 38T 82

Copper
A

St

Quartz
B

P

Steel
C

T

Rubber
D

9§

Correct Ans : B

Subject : Physics II

Q.No: 99 An illustration of conservation of is described as the motion of planets in the solar system.
2581794
IR Hsd § Uel &1 1fd F =g A % TREUT BT TP I<TeR (illustration of conservation) affd Bl
Energy
A
SHat (Energy)
Linear momentum
B
Y@ AT (Linear momentum)
Mass
@
SIHT (Mass)
Angular momentum
D

#ofig 71fd (Angular momentum)
Correct Ans : D

Subject : Physics II

Q.No: 100 Which direction does a magnet that is suspended freely align?
2581795



Wad T Y TCHT gon ge [y f3zm & WRAT (align) BT 82

South-west

A
aféror ufzm
East-west
B
R Uiy
North-south
C
IR W &fdor
North-west
D

IR ufde

Correct Ans : C

Subject : Physics II
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Q.No: 1 Unit of Characteristic gas constant is

2407788
ke 1 Fadie 1 591 ©
kl/ (Kg* K)

A
kl/ (Kg* K)
K3/ K

B
K3/ K

kJ/ k-mole*K

C
kJ/ k-mole*K
kJ/ mole*K
D
kJ/ mole*K

Correct Ans : C

Subject : Chemistry

Q.No: 2 Which of the following is not the spontaneous process-
2407789

fafafed § ¥ oF Wd: vafdd usd T8 8-

Flow of liquid higher to lower level

I 9 9 TR 9% RA BT a8

gas expansion in vacuum

frrafa & 1 &1 TR0
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diffusion of gases from a higher concentration to lower concentration

I Aigar A g gigar & {461 o1 oo

transfer of heat from low temperature at two atmosphere by an external energy.

TSP 91 SHolt RT & IR0 § SH dIIHE A ST T RITIR |
Correct Ans : D

Subject : Chemistry

Q.No: 3 What is the radius of the atom of body-centered cubic structure (BCC) as the atoms touch each other along the
2407988 (rpss diagonal of the cube?

FrE-BHiad g W (SRR & wRag] 3 B 1 § i WA 1 & B 9wl & Y e g B gd 82

r=a/2
A
r=al2
r=a 2%@
B
r=a 2%@
r=+/3 a/4
C
r=+/3 a/4
r=a
D
r=a

Correct Ans : C

Subject : Chemistry

Q.No: 4 What is the coordinate number of calcium ions in fluorite structure?
2407995

TARTgE W1 H HicRad SOl of e Tem | 82
4



B
8
6
C
6
12
D
12

Correct Ans : B

Subject : Chemistry

Q.No: 5  Which of the following was the first fertilizer company in India that was granted the permission to produce and
2408423 market the Neem Coated Urea?

frafifad # @ B9 URd &) Uzl Sdke Hut R B fiw At gk & Ieare $iR fauuE @t srafa < 1 o

The Fertilizer Corporation of India Limited

A
g WicargeR HRURTH 3w far fafies
National Fertilizers Limited
B
AT widarged fafies
The Fertilizers and Chemicals Travancore Limited
C
T Bicarged U8 Hiiepw JaueR fafies
Rashtriya Chemicals and Fertilizers Limited
D

TP Ffwed TS wicage fifies
Correct Ans : B

Subject : Chemistry

(22"1'\(%4%0 The value AH of the reaction.
CH,Cl,(g) — C(g) + 2H(g) + 2Cl(g)
The average bond energies of C — H and C — Cl bonds are 416 and 328 k] mol respectively.

HHfHfehal STHM AH
CH,CL(g) — C(g) + 2H(g) + 2Cl(g)

C-H 3R CC1 1< @ 319d §-s ol PHRT: 416 3R 328 fhaoe A &



2188 Kk

A
2188 fdrciioa
4968 kJ

B
4968 fdraiioa
1488

(o}
1488 Tl
1890

D

1890 fhaled

Correct Ans : C

Subject : Chemistry

Q.No: 7 The fraction of chlorine pricipitated by AgNOs solution from [Co(NHz)<C1]Cl5 15—
3108647 pricip v AgNO3 [Co(NH3)sCl]Cly

[Co(NH3)sCIICL, ¥ AgNO, & Taerde Z@RT FaRIA &I fohdal S19T 3@aifud giar ¢ -

1.2
A

1.2

2/3
B

2/3

13
C

1/3

1/4
D

1/4

Correct Ans : B

Subject : Chemistry



g-l\(l;;: Which of the following is most likely formula of platinum complex, ifi of total chlorine of the compound
408854
is precipitated by adding AgNO5 to its aqueous solution —

fArafafaa & & @feas difie &1 g aar gen afe 38 aiffe A s9fug so Fala &
im,mmﬁwﬁﬂgwasmwmﬁﬁﬁm%—

PtCl4.6H,0
A

PtCl4.6H,0

PtCly.5H,0
B

PCly SH,O

PtCl4.2H,0
Cc

PiCl4.2H,0

PCl4.3H,0
D

PCly.3H,0

Correct Ans : D

Subject : Chemistry

Q.No: 9  Nitration of acetanilide followed by hydrolysis gives :

2409305
TRieIegs & AIECIH & G SRR adl &
o-Nitroaniline
A
o-ATsgl e
p-Nitroaniline
B
p-Tgel Bfeli
o & p-Nitroaniline
C

o d p-rgel et

D o-Nitroanilinium ion



o-"1ge! uiAehtfray s

Correct Ans : C

Subject : Chemistry

Q.No: 10
2409310

Benzoylation of hydroxy and amino compounds as:

CgHsCOCI

CgHsOH _LeHst0Cl , CH-OCOCgH; + HCI shows :

EIESia 3R A afte &1 deaaes fomm &
CgHeCOCI

CgHgNH, —2 =~ CgHNHCOCH; + NaCl + HyO
CgHsOH —Cahscocl , C.H.OCOCgH; +HCl

Schmidt reaction

e srftforan

Schotten-:Baumann reaction

Sie-arr srfifsar

Claisen reaction

Ao ifHfesar

Ledere — Manasse Reaction

ASW-A=Y fufsear

Correct Ans : B

Subject : Chemistry

Q.No: 11
2409312

Which of the following is called the power house of the living cell?

fafafad & fea ST &1 uR 3189 84 8?2
Golgi bodies

iesipTg

Nucleus



I

Mitochondria

C
HIgSrDITal
Lysosome
D
GGG

Correct Ans : C

Subject : Chemistry

Q.No: 12 1In fact orlon is:

2409393
3Rl a¥a: Bl 8
Nylon-66
A
AT3A-66
Terylene
B
e
Poly (ethyl acrylate)
C
urelt (TR efivee)
Polyacrelonitrile
D

Uil ufpagesa
Correct Ans : D

Subject : Chemistry

Q.No: 13 The structure of spiro [3.3] heptane is
2409425

TR [3.3] 897 B WA 8§ -

e
<]



D ox x o M

Correct Ans : B

Subject : Chemistry

Q.No: 14

2409428 The molecular formula of a saturated compound is CoH4Cly. The formula permits the existence

of two -

dqed diffe &7 AT CoHACL & & 5§ 3HUTEAa § ao o -

Functional isomers

A
frarere waTaTdt
Position isomers
B
fufa waragdt
Optical isomers
C
UHIRIeS THTGIE!
Cis-trans isomers
D

JHUE-faue THTIES



Correct Ans : B

Subject : Chemistry

(22;1'\(')(;61153 Which of the following statements is not comect when a mixture of NaCl and K7Cry07 is gently
warmed with conc. H2504 -
Frafafag 7 4 Siaar &9 G A1 ¢ 519 NaCl 3R KoCryO7 & 307 &7 o2 @eg HS04 &
arer I T Sarg -
A deep red vapour is evolved
A
TEY &Tel 37 1 areg fped! g1
The vapour when passed into NaOH solution gives a yellow solution of NapCrOy
B
a7 I NaOH & warfgd el 91, NayCrO 4 &1 dierr faeraa &
Chlorine gas is evolved
C
TR A fFeadt §
Chromyl chloride is formed
D

P FARISS IdT &
Correct Ans : C

Subject : Chemistry

Q.No: 16 The most common ore of copper is—
2409635

PHIR P alfdes I 3P © -

Cu,S
A
Cu,5
CuFeS,
B
CuFeS,

¢ CuCO, . Cu(OH),



CuCO, . Cu(OH),

CuSP es 4

Cu.Fes,

Correct Ans : B

Subject : Chemistry

24%(;61473 An ore of tin containing FeCrO, is concentrated by —
FeCrO, g foa &7 sraer s grar |vfea foam simar 2-
Magnetic separation
A
TEHTI GUFHIT
Froth flotation
B
T &id-
Electrostatic
C
R Jggfaat
Gravity separation
D

TREc JYFHIT

Correct Ans : A

Subject : Chemistry

Q.No: 18 Purification of silicon element used in semi-conductors is done by -
2409668

Srgarad! ¥ ygdd Rifereia &1 2ed g & gRT fsan S @ -

Zone refining

&= ufivspeor

Heating



T BT

Froth floatation

EINRSCE

Heating in vacuum

forafa & mf s
Correct Ans : A

Subject : Chemistry

Q.No: 19 In the Hoope's process for refining of aluminium, the fused materials form three different layers and they remain
2409670 separated during electrolysis also. This is because -

Tgfifg & MeF & faw gu & wehd o, Ifera uerd i fafte iRd 1T § aur A fagyd srouen & R o gy gt 1 a8
g Ffp -

The upper layer is attracted by the cathode, and the lower layer is attracted by the anode

A
U A FUTS FRT ST ¥galt ¢ 94T Faell Rd TS gRT o iia 35l 8
There is special arrangement in the cell to keep the layers separate
B
A9 F el B 3R TEA F R e g gt @
The 3 layers have different densities
C
T wal a1 w Rr-fie gar @
The 3 layers are maintained at different temperatures
D

A o R-Re arg o wed @
Correct Ans : C

Subject : Chemistry

Q.No: 20 What is the number of unpaired electrons in an inert gas?
2746270

3ifchy 9 ¥ 3gfid giaerl o1 e fobat gt 82
(]



8
C

8

18
D

18

Correct Ans : A

Subject : Chemistry

Q.No: 21 According to Bohr's theory, what is the angular momentum of the electron in the 5th energy level?
2746275

IR TG & 3R 5% 3ol T0) & Soidclel o HIVTT TaT 47 §-

25h/m
A

25hi'n

1.0h/m
B

1.0h/x

10h/m
Cc

10h/m

25h/n
D

25h/x

Correct Ans : D

Subject : Chemistry

Q.No: 22 Which of the following substances does not show a sharp melting point?
2746284

g uerdf & frgeT Wy e T8 87

KCI

MR FARISS (KCI)

B Glass



P1d (glass)

Ice
C
Tb (ice)
Diamond
D
BRI (STUHS)

Correct Ans : B

Subject : Chemistry

Q.No: 23 How many molecules are there in the unit cell of sodium chloride?
2746285

ST FARES b gobT3 Aal H b 30 BNl &2
2

8

Correct Ans : B

Subject : Chemistry

Q.No: 24 TUPAC name of (CH3;)LN-C,H; is-
2746386

(CH;).N-C.H; Itff/& S#TIUPACATH &

Dimethyl ethyl amine

sRAfa e gHie

B Dimethylamino methane



STEAfYS T 499

Dimethylamino ethane

SEAfYS T T

N, N- Dimethylamino ethane

N, N- SEARIE A 39

Correct Ans : D

Subject : Chemistry

Q.No: 25 Isopropyl alcohol on oxidation forms-
2746395

TSI SHePIgd & SHFTHROT GRT T~
Acetone
A
wiieH
Ether
B
W
Ethylene
C
et
Acetaldehyde
D

THieafssss

Correct Ans : A

Subject : Chemistry

Q.No: 26 Which of the following is not a critical element?
2403546

= ¥ @ o9 91 pifde da e 82

Nitrogen

BIETEE

B Phosphorus



BRGRA

Chlorine
C
FANH
Potassium
D
grefRrw

Correct Ans : C

Subject : Botany

Q.No: 27 Crussulacean Acid metabolism (CAM) is found in-
2403561

HYARTT TS Neraifersd (CAM) TrT SITdT §-
Cs plants
A
C; gteif 7
Csplants
B
Cy oleit
Hydrophytes
C
STefg ureY #
Succulent plants
D

ISR (uraer) ey &
Correct Ans : D

Subject : Botany

Q.No: 28 Minamata disease is caused by pollution of -
2403581

e § Qg uguur § e 7 g 82

Lead

It

B Mercury



HNO3
C
HNO;3
DDT
D
.38

Correct Ans : B

Subject : Botany

Q.No: 29 Cotton Fibres are chiefly made up of-
2403582

HUR b I OId: 89 8d 8-

Protein
A
W &
Lipids
B
fafrs &
Cellulose
Cc
et &
Wax
D
g

Correct Ans : C

Subject : Botany

Q.No: 30 Plants having similar genotypes produced by plant breeding are called -
2403585

ey U ¥ Idied T8 DY M1 ofF TRey T A 8T 8, Hedid o-

Genome

SfHm

B Clone



A

Haploid
C

Autopolyploid
D

Taagoa

Correct Ans : B

Subject : Botany

Q.No: 31 Photomorphogenetic pigment in plants is-

2403586
Y F g1 AHIRSY quieh 3-
Carotene
A
Fufes
Chlorophyli
B
FRIa
Phytochrome
C
LaEGEgL |
Vernalin
D
Ao

Correct Ans : C

Subject : Botany

Q.No: 32 Which of the following atmospheric layers contains the ozone shield?
2581801

frofared 7 9 fog argHserd wa § $fieF a1 gl o7

Troposphere

&y W

B Exosphere



sfedsa

Stratosphere
C

AT Hed

Mesosphere
D

qeg Hed

Correct Ans : C

Subject : Botany

Q.No: 33 How many industrial subcategories have the CPCB found to be significantly polluting?
2581803

Hdifst (cpeB) A fardw SNl Iusford & Aeayul U ¥ UgHUIGRY Ur 82

17
A

17

25
B

25

27
C

27

31
D

31

Correct Ans : A

Subject : Botany

Q.No: 34 Which of the following energy sources is conventional?
2581804

fafifaa & @ o9 91 o Jid URURS (conventional) 872

Sun
A

R

Wind
B

Bdl

C Dried dung



&1 MR

Tides

AR

Correct Ans : C

Subject : Botany

Q.No: 35 What are the sources of the chemicals containing chlorine and bromine in the stratosphere?
2581805

U Hed H FaRH R SIHIH gad JWEA & Wi 71 82

Sulphur dioxide

A
HePr STI3TRISS
Nitrogen dioxide
B
AEEIVH STESHTRIES
Chlorofluorocarbons
C
FRIFARIPTEA
Carbon monoxide
D

BT AHISTTATSS
Correct Ans : C

Subject : Botany

Q.No: 36 Which of the subsequent claims is true?

2581806

frofefad & 9 &9 a1 g 99 82

Tides are a conventional source of energy
A

WK (Tides) 9l $T (& URURS HId §

Sun is a conventional source of energy
B

Tl Ful o1 v yRulvs Hd @

Cc Wind is a conventional source of energy



a9 el $T TP URURS Hid &

Dried dung is a conventional source of energy

@I MR Seif BT IRURS &id 8

Correct Ans : D

Subject : Botany

Q.No: 37 The importance of day length in plants was initially demonstrated in:
2581818

il 7 foF 3 S & Hed B YE H A yeffa fasar mar um

Barley

Sl

Lettuce

ellq Ul (Lettuce)

Tobacco

GEL

Tomato

CHICY

Correct Ans : C

Subject : Botany

Q.No: 38 When garden pea tendrils coil around a support, it means:
2581819

9 AR & &M ot WeR & ARY 3R FSferd (tendrils coil) B o €, O 39T 31 §:

Seismonasty

R (Seismonasty)

Thigmotaxis

R fRT (Thigmotaxis)

C Gravitropism



1:RE‘IEFEF'I'JT (Gravitropism)

Thigmotrophism

fraieiftesw (Thigmotrophism)

Correct Ans : D

Subject : Botany

Q.No: 39 Which of the following ways do plant hormones and enzymes differ from one another?
2581822

Fraffed # F $1F A alics I urey g SR TSTH T gaX 4 i &1d 82

Required in less quantity

A
FH U1 H TGS §d 31
They are expanded in the process
B
3 39 uftear & favania 819 81
They release some energy
C
3 O Sl Bigd 81
None of the given option
D

fou e fawent A @ #1g &
Correct Ans : B

Subject : Botany

Q.No: 40 The fusion of the male and female reproductive nuclei is referred to as
2581823

TR 3R ARG 9 H5b BT YT (fusion) Heawdm -

Adoption

A
oo gl (Adoption)
Excretion

B
HA™RT (Excretion)
Fertilization

C

f99 (Fertilization)

D Regeneration



g=ﬁh=r (Regeneration)

Correct Ans : C

Subject : Botany

Q.No: 41 The animal kingdom's most common protein is
2581828

SHRI & oy ST Jad 3H WA g

Trypsin

Rfte

Collagen
B
Prorer
Haemoglobin
Cc
HLELCIEE]
Insulin
D

Correct Ans : B

Subject : Botany

Q.No: 42 Which Of the following, which best describes GPI-anchored proteins?
2581837

fofafad o ¥ I Shttens-Tegad WIdH (GPI-anchored proteins) 1 W& 33T qUH HRaTl 87

Integral plasma membrane proteins

A

3T wireHT fyrett wda

peripheral plasma membrane proteins
B

ufkefia (peripheral) @ f3reedt W=

Ion-gated channels in the plasma membrane are occupied by proteins.
Cc

Tt fRreelt § Smaa-1e A9d M gRT Soalt B forar ot 21

D proteins that randomly bind to the plasma membrane’s lipids



WA & I €1 (randomly) & @reHT fB3reeht & fafds & dud &

Correct Ans : B

Subject : Botany

Q.No: 43 The method through which oxygen and carbon dioxide pass through the plasma membrane is
2581838

forg fafy & sifafior ok e srRsiiaurss @ el § g ToRd § 98 31
Active diffusion

A
|fhT TR (Active diffusion)
Facilitated diffusion

B
Jfaer 48R (Facilitated diffusion)
Passive diffusion

C
fafera TR (Passive diffusion)
Random diffusion

D

gTefa® YER (Random diffusion)
Correct Ans : C

Subject : Botany

Q.No: 44 By using different restriction endonucleases, the DNA fragments created can be separated by:
2581843

faftr fdse TSI (restriction endonucleases) &1 IUANT $RPb, FIT 7T ST THS BT AT B BT ST TbelT 82

gel electrophoresis

A
Sa %agawmm (gel electrophoresis)
polymerase chain reaction

B
T Re 3 froa=mE (polymerase chain reaction)
density gradient centrifugation

C

T eTd ASTRGIH (density gradient centrifugation)

D All of the given option



feu 7w aoft farea

Correct Ans : A

Subject : Botany

Q.No: 45 1In a PCR reaction, which of the following steps is catalysed by Taq polymerase?
2581847

e GidteR ufaftear &, Fofifd § € &9 91 $g0 0 Uieie gRT SARd gidl 87

Denaturation of template DNA

A
Fmde YT FT fAFAIHIU (Denaturation of template DNA)
Annealing of primers to template DNA

B
FE & AT FA & T urgHRl @ TARAT (Annealing of primers to template DNA)
Extension of primer end on the template DNA

C
e AT W UISHR 3id &1 fadR (Extension of primer end on the template DNA)
All of the given option

D

feu 7w a+ft farea

Correct Ans : C

Subject : Botany

Q.No: 46 From the nucleus to the cytoplasm, genetic information is transmitted through
2581850

I (nucleus) q HIR® G (cytoplasm) | 31133% AT & AegH 9 Ofa (transmitted) Hik]
RNA

3RTY

Anticodon

TdeisT

DNA

LS 1

Lysosomes

GIESIGIE]

Correct Ans : A



Subject : Botany

Q.No: 47 1In DNA replication, the proofreading enzyme is called
2581851

SITTT yferpfal &, e TomeH o EZR I
Primase
A
EIECE ]
DNA Polymerase I
B
ST Ui I
Ligase
C
st
DNA Polymerase I1
D

ST Ui 11

Correct Ans : B

Subject : Botany

Q.No: 48 Which classification system was developed by Bentham and Hooker?
2581860

T 3R g gRT forw afferRor yomelt &1 fawr fovam mar ur?

Numerical
A
Phylogenetic
B
gxImadt (Phylogenetic)
Artificial
C
Natural
D

Correct Ans : D

Subject : Botany



Q.No: 49 Which location is used to perceive duration of light or dark?
2581870

DT T 3fER B1 3@l B ST F T {69 R &1 IuahT fobar Srar 82

Leaves
A

aRrat

Stem
B

GEI

Roots
C

Srst

Apical bud
D

fRraz Felt (Apical bud)
Correct Ans : A

Subject : Botany

Q.No: 50 Which of the following is a live species that contains phytochrome, a blue-green pigment?
2581871

fafifaa & @ o T ue Sfifad usifa (live species) & SH ®Igcishd, T Sidl-81 TTEed 8l 872

Algae
A
RAqrd (Algae)
Fungi
B
ode (Fungi)
Flowering plants
C
elf AT T
Vascular cryptograms
D

Yagt fPRI (Vascular cryptograms)

Correct Ans : C

Subject : Botany



Q.No: 51 Which set of ions are necessary for nerve impulse induction
2403587

dfReT 3 Ao & fow oAl & fobw A Bl aRgwdT gl

Sodium and calcium ions

A
Hifsaw vd Hiewaw sma=
Magnesium and potassium ions
B
AR Te TR smaa
Sodium and potassium ions
C
AfETw Td ueRmaw s
Calcium and potassium ions
D

FHferraw vd TRefRmw sm
Correct Ans : C

Subject : Zoology

Q.No: 52 Hormone released by hypothalamus is called.
2403590

TIRUATAY GRT B 1 g WIfad gie 3
Vasopressin
A
CIGIIGE
Melatonin
B
BRI
Somatostatin
C
TR
Aldosterone
D

TesRAIRA

Correct Ans : C

Subject : Zoology

Q.No: 53 Which of the following factors affects the structure of the cell?
2581876



Fofefad & @ S 91 SRS HIRAHT DI T I YU Bl 82

Length
A
GELH]
Size
B
SITPR
Life
®
Site
Function
D
Ean] (Function)

Correct Ans : D

Subject : Zoology

Q.No: 54 Which of the following tissues has the greatest capacity for regeneration?
2581877

fafafad # ¥ f59 Faw (tissues) H A (regeneration) &1 affie emrar gt 82

Epithelial tissue

A
SUDdl Hdd (Epithelial tissue)
Nervous tissue

B
T4l SHad (Connective tissue)
Muscular tissue

C
ueftg Sae (Muscular tissue)
Neural tissue

D

dRA®T $d% (Neural tissue)
Correct Ans : A

Subject : Zoology

Q.No: 55 Which of the following earthworm species is not an epidemic species?
2581879



fufafad & & H-F Fgsn yonfa 7R} (epidemic) Bt USIfa 6T 82

Eudrilus

A
gf$a™ (Eudrilus)
Lampito

B
affrer (Lampito)
Octochaetona

C
Jferae (Octochaetona)
Perionyx

D
Teniew (Perionyx)

Correct Ans : A

Subject : Zoology

Q.No: 56 Which of the following species of caterpillar harms coconuts?
2581880

fufafad & @ o1 dt SR gyonfa TiRaa & JHaH ugand 82

Prodenia litura

A
W3far fagRT (Prodenia litura)
Calandra oryza
B
aﬁ?ﬁ ST (Calandra oryza)
Pectinophora gossypiella
C
R nﬁrﬁqm (Pectinophora gossypiella)
Nephantis serenopa
D

AW e YT (Nephantis serenopa)

Correct Ans : D

Subject : Zoology

Q.No: 57 Beekeeping as a business and scientific endeavour to generate wax and honey is referred to as
2581881

TYASE U U Fau & T4 § 3R 119 3R Wee ST I & a1 T &l HET oIl g

A Silviculture



fafeawear (Silviculture)

Sericulture

B
ANF=R (Sericulture)
Apiculture

C
TifieeR (Apiculture)
Pisciculture

D

fi=fteeR (Pisciculture)

Correct Ans : C

Subject : Zoology

Q.No: 58 What is a free-living, anaerobic bacterium that fixes nitrogen?
2581890

Argero &1 fRIERUI (fixes) HRA ITel Gad-oifad (free-living), 3/@TEd (anaerobic) STaT] & 82

Rhizobium
A
Streptococcus
B
Azotobacter
C
Clostridium
D

FarIfETH

Correct Ans : D

Subject : Zoology

Q.No: 59 Compared to normal cells, cancer cells are more severely damaged by radiation because
2581892

Mg HIRABTSA B a1 H, FIR PHIRABIE BT (radiation) F 31 1R 0 F efevra gt € Fife

A Cancer cells do not frequently multiply.



Cancer cells lack access to nutrients.

B
IR PIR@1ST A TP d&l T uga 781 gt 8
Cancer cells have different structures.

C
FWR Fifk@re A faft dvae 1 §
Cancerous cells divide quickly.

D

FWR PIRST Ash & R af &
Correct Ans : D

Subject : Zoology

Q.No: 60 Who is credited for starting the "green revolution"?
2581902

"R Hifq" L B BT 3G fHY faar o 82

Verghese Kurien

A
Tiffer i
Neel Kranti
B
e wifa
Napoleon Bonaparte
Cc
AR A
Norman Borlaug
D

AT FREnT
Correct Ans : D

Subject : Zoology

Q.No: 61 What is a key goal of biotechnology in the field of agriculture?
2581903

FN F &7 A 9 Mfs! 7 T TeT /1 32

A to decrease seed nhumber



I = B FH B[ F o

to produce pest-resistant varieties of plants

B
el 1 e gfadeh e o1 Iare e & fig
to increase phosphorus, nitrogen production
C
BIEPIRY, ATEEISH SAeH 9gM & g
to reduce the number of plants
D

Nl HY T&AT B 9 3 & forw

Correct Ans : B

Subject : Zoology

Q.No: 62 What kind of bacterium produces Bt toxin?

2581904
g yeHR &1 Sfany] §i fay Iow wRar g2
Bacillus thuringiensis
A
e yReRm
Bacillus anthracis
B
e =R
Bacillus thermophilus
C
IR yHifeas
Bacillus subtilis
D

IRy gafeforg

Correct Ans : A

Subject : Zoology

Q.No: 63 What is the name for the terminal branching ends of axons?
2581912

G{&-I?iﬂ (axons) & 3ifaw wrareit are RRY (terminal branching ends) T ATH &1 %?

Synaptic knobs

RAfe® alen

B Synaptic vesicles



Rrfs aRrew

Dendrons
C

Dendrites
D

Correct Ans : A

Subject : Zoology

Q.No: 64 What organelle helps in sperm penetration of the ovum?
2581913

DI T 3T 3T & EHIU] U™ H (sperm penetration of the ovum) AEE BT 82

Acrosome
A

T

Zona pellucida
B

ST RftsT

Megalis
C

e

None of the given option
D

fou e fawent A @ #1E T8
Correct Ans : A

Subject : Zoology

Q.No: 65 How many autosomes are present in a primary human spermatocyte?
2581914

TH Wi Aa YHTY] (spermatocyte) B fra e AN 81d 82
34

34



44

54
Cc

54

33
D

33

Correct Ans : B

Subject : Zoology

Q.No: 66 Which of the following experiments has mimicked circumstances allegedly existing on the early earth?
2581936

fafafad 7 ¥ fog van 3 IR 3l R d 0 fogem oRfufadt ot 9oa ot 82

Hershey-Chase experiment

A
TY-°9 TaRT
Geiger—Marsden experiment
B
TR-aRiST warT
Miller-Urey experiment
(o
freR-3% v
Schiehallion experiment
D

Rrefma v

Correct Ans : C

Subject : Zoology

Q.No: 67 Which condition does Lamarckism explain?
2581937

AHThare forg fRUY &1 sare &ar 82

How giraffes got their long neck

RRTeT ot 37t deft 7T S fareht

B How humans lost their tail



79 9 3T 4T ) @l §

How humans became bipedal

9w $9 fgure (bipedal) §9 Y
All of the given option

few 7w 9ol fawrew

Correct Ans : D

Subject : Zoology

Q.No: 68 What is the most effective way for carbon dioxide transportation in the human body?
2581938

AG IRR & Pled SE3aaEs URag & T Jad UHTE dRieT T 872

Bicarbonate

A
CIECQCIE
Carbide
B
PraiES
Amylase
Cc
LSS
None of the given option
D

e U el § @ S 98
Correct Ans : A

Subject : Zoology

Q.No: 69 Children who have thymus damage may experience ?
2581948

o = & urgaw efq Bt 8, 3 BT 3T HR Tbd o2

Loss of an antibody-mediated immunity

TElaiSl-aegRuar UfaRam (antibody-mediated immunity) &1 JHaE

Reduction in stem cell production

WY Id Idred #

C Deafness



CLRILE|

Loss of cell-mediated immunity

PINBT-TER RS (cell-mediated immunity) &1 &AM
Correct Ans : D

Subject : Zoology

Q.No: 70 What hormone is responsible for milk secretion following childbirth?
2581949

T & 9 & 91 g¥ & 1 (milk secretion) F T I T1 gHH FeR 82

Insulin
A

e

Prolactin
B

wafdea

Lactogen
C

LESEE

None of the given option
D

feu v faweul & @ P T8
Correct Ans : B

Subject : Zoology

Q.No: 71 What disease is brought on by a lack of hormones produced by the adrenal cortex?
2581951

3ifrgaes TIaRIT (adrenal cortex) GRT Idlfed THMA &1 HHT J I A1 A7 gl g2

Acromegaly
A

Graves’ disease
B

e T (Graves’ disease)

C Addison’s disease



ufea A

Diabetes Insipidus

sHfade sftsa
Correct Ans : C

Subject : Zoology

Q.No: 72 Which one of these is not a result of the release of catecholamines?
2581952

T q P HehIaHRY oI RIS (release of catecholamines) T URUMT 8T 872

Piloerection

A
UTgAITeRTT (Piloerection)
Pupillary dilation

B
et Barg (Pupillary dilation)
Glycogen formation

C
AP TS
Increase in heart rate

D

%oy Tifa # gfF
Correct Ans : C

Subject : Zoology

Q.No: 73 A series of metabolic processes known as the Krebs-Henseleit cycle occur in the ?
2581953
PHH-gIfIe Ih & U H ST SfF arell aaded Uishansfi (metabolic processes) &t Tdb g@ell # gt 92
Brain
A
@ AREs
Liver
B
GIEH

C Urinary bladder



HA AR

Lungs

R

Correct Ans : B

Subject : Zoology

Q.No: 74 Humans excrete nitrogenous wastes through their urine, what is it?
2581954

TS 3R T & H1H § ATgciogad UfISt (wastes) & IQNd HRaTl €, T8 M 82

Trimethylamine oxide

A
TRARAATET TS
Ammonia
B
Sraferar
Uric Acid
Cc
e efs
Urea
D
g

Correct Ans : D

Subject : Zoology

Q.No: 75 The largest sesamoid bone in the human body is

2581956
A4 IR H oY F1 daHids g gl
Pelvis
A
9afd¥ (Pelvis)
Femur
B
HIR (Femur)
Ulna
C
I (Ulna)

D Patella



qed (Patella)

Correct Ans : D

Subject : Zoology

Q.No: 76 ' The mass of an O;is about 16 times that of H;. Atroom temperature the rms speed of O; is v. The mms

2403974 speed of the H; at the same temperature will be-
0, &1 GeddAl H, & GeadAld & 16 I §, I a1 WX O, & @3 Ay A« v ar
THA a9 9 H, &7 def Ared Hel 997 ghaT-
¥
16
A
v
16
v
4
B
v
4
4v
C
4v
16 v
D
i6v

Correct Ans : C

Subject : Physics II

Q.No: 77 The mean square speed of the molecular of a gas at absolute temperature T is proportional to-
2403999

g & Uil &1 WA A9 T W 7 Hol AU S 8-

1
T



H ik

VT
B
VT
T
C
T
T 2
D
T 2

Correct Ans : B

Subject : Physics II

Q.No: 78 What is the S.I. unit of magnetic dipole moment?
2404088

Yoo fgya amgof &1 S.1 38T 2-
1‘-"11]‘.‘1'1

mA-ls

mA-ls

-y

ma--s

mA-Is

Correct Ans : B

Subject : Physics II



Q.No: 79 A voltmeter have resistance 100 ohm and range is 10V. Its range may be increase up to 100 volt by adding
2404092 (ggistances:

T dieeHier &1 UfaRIY 100 37H 8 3R R 10 dlee 31 3P IR FgIhR 100 dlee fhaT UfeRlY e fhar St Jovdr g2

900 ohm in series

A
sj@ar ° 900 39
900 ohm in parallel
B
AR § 900 3H
900 ohm in series and parallel
C
adr 3R FHHEGR # 900 3y
950 ohm in series
D

yi@ar o 950 39
Correct Ans : A
Subject : Physics II

Q.No: 80 Motion of molecule is-

2404102

19 & Sfupsft &t T B ©-

One dimensional
A

LEatLie

Two dimensional
B

fafaeita

Three dimensional
(o

et

Only up and down
D

HId FW A1

Correct Ans : C

Subject : Physics II



24'\:)(:18113 If a thin prism has an angle 10° and p = 1.5 then angle of deviation produced bv it will be-

i gder TU=H &7 FI0T 10°d0 p= 1.581 df 3% E@RT 3cTeed d=ieled HIUT G-

10°
A

10°

15°
B

152

6.6°
C

6.6°

50
D

50

Correct Ans : D

Subject : Physics II

Q.No: 82 A bullet of mass 0.05 kg is fired with a speed of 200 m/s on a mud wall of thickness 0.02 m. The bullet emerges
2404123 \jth only 10 percent of its initial kinetic energy . Find the final speed of the bullet.

0.02 Hiex AierE &t i) & farR W 0.05 FU Togd= F1 T el 200 Hiex/AFs & i J grft ot B1 el ot uRfYS
Soll & had 10 YA & WY Fispd gl 71 el Bt 3ifaw 7fa a8 T |

516 m'sec
A
516 m/sec
67.4 misec
B
67.4 misec
63.2 m/sec
C
63.2 m/sec

D 73.2 m'sec



73.2 m'sec

Correct Ans : C

Subject : Physics II

.No: 83 . : b ; s . : :
(224100189 What is the relation between critical angle 1. and refractive index of dense medium p is-

Fifde 0T i, doT Tu ATETH & ITaded g F g &

sini, =

A
sini, =
.
sini. =—
1

B
.
sini, =—
n
tani.=p

C
tani.=p
cosi. =L

D
cosi. =q

Correct Ans : B

Subject : Physics II

Q.No: 84 Which one of the following is the torque and energy dimensional formula?
2581727

frafiad & 9 &9 W1 < SR Tol AT Wi 82
[ML*T 2] and [ML*T?]

[MLT 2] 3R [ML*T7]

B [ML-3T-2] and [MLT 3]



[ML-3T -] 3 [MLT 2]

[ML*T 2] and [MLT 3]

C
[MLAT 2] 3 [MLT ]
[MLT?] and [ML*T?]

D
[MLT?] 3R [ML>T?]

Correct Ans : A

Subject : Physics II

Q.No: 85 The energy that a body possesses as a result of its motion is referred to as
2581730

foreit g & oot Y & URomREFE U NS AN R, SH_ SR g
Kinetic energy

A
Tfas St (Kinetic energy)
Potential energy

B
fRufest et (Potential energy)
Total energy

C
Pd Sl (Total energy)
Motion energy

D

7fa =it (Motion energy)
Correct Ans : A

Subject : Physics II

Q.No: 86 How many Ergs do you get from one Joule?

2581731
TP S F 3Muaph fobe1 @i e grer 82
10

A
10



104

106
C

106

107
D

107

Correct Ans : D

Subject : Physics II

Q.No: 87 What determines the average kinetic energy of gas molecules?
2581734

9 & 373t (molecules) Pt 3d AT Seif (average kinetic energy)ddr fRuffea wxadt 82

Nature of the gas

A
9 ot ypfa
Volume
B
HEAT
Mass
Cc
KA
Temperature
D
GIEUIE]

Correct Ans : D

Subject : Physics II

Q.No: 88 What is the ideal gas's average molecular velocity?
2581735

3{1ex 9 o7 3{IFd 3MUIfds a7 (ideal gas average molecular velocity) &7 82

Zero

A
B Infinity



3T

Constant
C

R

Unstable
D

R

Correct Ans : A

Subject : Physics II

Q.No: 89 Containers for cooking gas are kept in a lorry that travels at a constant speed. The internal gas molecules'
2581736 temperature will.

T T & BRI S U ANt B @ o1l § S T RR M § Fadt g1 iaRes T fupsft &1 argae

Increase
A
e
Decrease
B
e
Decreases for some, while the increase for others
C
et & forg wewm of fanelt & g wewm
Remain the same
D

O U7 3 & /W

Correct Ans : D

Subject : Physics II

Q.No: 90 Which of the following lights most deviates when it strikes a prism?
2581743

i & @ 19 T ybre o ¥ e R Jod 34 =R (deviates) 81T 82

Red Light

RG]

B Violet Light



qIgQe d8e

Green Light
C

kL]

Red Light and Green Light
D

ra o=t SR g8 a=it
Correct Ans : B

Subject : Physics II

Q.No: 91 Which of the following optical phenomena causes a mirage?
2581744

fufafad & @ o9 It s d ge1 TG (mirage) &1 HROT 0T 82

Total internal reflection

A
Pa 3fidaiv® ufafda (Total internal reflection)
Refraction of light

B
USPTRN HT 3(Udd (Refraction of light)
Reflection of light

C
TR BT URTAd (Reflection of light)
Polarisation of light

D

YT BT YdIHIUT (Polarisation of light)
Correct Ans : A

Subject : Physics II

Q.No: 92 The formula for the speed of light in a vacuum is:
2581748

fafa (vacuum) & v & I @1 7 B-
3108 m/s

A
3108 m/s

B

3*10% km/s



3*10% km/s

3*10% m/s
C

3*108 m/s

None of the given option
D

o e fawent A @ +Ig &
Correct Ans : C

Subject : Physics II

Q.No: 93 The of sunlight by water drops in the atmosphere is illustrated as the rainbow.
2581749
JgHSd # UM ®1 91 gRT T & YHII Bl Yy & w0 B fafyd foear mar g1
Refraction
A
3yad{ (Refraction)
Scattering
B
oA (Scattering)
Reflection
C
ufafds (Reflection)
Dispersion
D
Tara (Dispersion)

Correct Ans : D

Subject : Physics II

Q.No: 94 When hydrogen atoms are excited from their ground state to the state of principal quantum number 4, how many
2581754 (jfferent spectral lines are visible?

IS GISSIoH URHIY] S{O-T FeT SIaRUT ¥ HBT BicH GBI 4 BT ORI H Il gid &, df bt 1+ quishaa ¥@1d (spectral
lines) fezars 2t 2

A 2



3
B

3

6
C

6

5
D

5

Correct Ans : C

Subject : Physics II

Q.No: 95 What types of bonds are found in semiconductors?
2581756

3=TA® (semiconductors) H fhd TSR & §¢H UTT IId 872

Monovalent

A
HHIdd=< (Monovalent)
Binovalent

B
faxaore (Binovalent)
Trivalent

C
rAae® (Trivalent)
Covalent

D
TgHdIS® (Covalent)

Correct Ans : D

Subject : Physics II

Q.No: 96 Which of the following processes has the highest thermal conduction?
2581771

fafafea & ¥ foy ufssar § I drdia e (highest thermal conduction) 82

Combustion

Gg (Combustion)

B Radiation



faf®ezur (Radiation)

Convection

HaeT

Conduction

Ydigdh~d (Conduction)
Correct Ans : B

Subject : Physics II

Q.No: 97 The statement that "heat cannot naturally flow from a body at lower temperature to a body at greater
2581779 temperature" follows.

78 BYA b "l Wrvifde TU A B AUHM 9 a%g Y 31 UM 9 a%g § Uaifed TeI g Ibdl 8" @I UBR gl
conservation of momentum

A
Tfq BT TR&OT (conservation of momentum)
first law of thermodynamics

B
SHUAMST (thermodynamics) &1 UgaT fFrad
second law of thermodynamics

C
YIRS BT gerT fraw
conservation of mass

D

HIY $T HI&UT (conservation of mass)
Correct Ans : C

Subject : Physics II

Q.No: 98 What is a metal's dielectric constant?
2581780

Tq T Wﬁ‘c{ﬂﬂ fAadi® (metal's dielectric constant) &1 gidl 72
-1



o

Infinite
C

3Fd

1
D

1

Correct Ans : C

Subject : Physics II

Q.No: 99 The value of open space's electric permittivity is:

2581784
E@I YE Bt ]%E'gﬁ URITHET (electric permittivity) T {1 %—
9 x 10° NC2/m?
A
9 x 10° NC2/m?
8.85 x 1012 C4/Nm?
B
§.85 x 10-12 C2/Nm?
8.85 x 10-12 Nm2/C? sec
C
8.85 x 10-12 Nm2/C? sec
9 = 10 C2/Nm?
D

9 x 109 C2/Nm?

Correct Ans : B

Subject : Physics II

Q.No: 100 Which of the following substances exhibits the greatest magnetic susceptibility?
2581796

fafafad & @ o9 a1 e g8 9t Jaa g Yaga=iadr (magnetic susceptibility) T&Rfd &ar g2

ferromagnetic substance

ﬁ%ﬂﬁﬂﬁ'ﬂ (ferromagnetic) tl?.Tif



Paramagnetic material

B
3ge®Ig (Paramagnetic) ARTA
Diamagnetic material

C
ufage®a (Diamagnetic) AR
None of the given option

D

fou T fawent A @ #E T8
Correct Ans : A
Subject : Physics II



